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B$6$4 ������������ ��	 0�
���� $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 8B
B$6$3 ,��������
��� ��	 ��������� $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 8B

B$? 0��	����� ������������������ ��� ���������
	�� ,����������	��'�� $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 8!
B$?$4 ������������ ��	 0�
���� $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 8<
B$?$3 ,��������
��� ��	 ��������� $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ B 

B$8 0��	����� ������������������ ��� ��������	���� ���'�� 	�� ��������
,��������� $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ B3
B$8$4 ������������ ��	 0�
���� $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ B6
B$8$3 ,��������
��� ��	 ��������� $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ B6

* '
������
�+�����������(��������� )!
=$4 *��������� ���������	�� ��� ����� ��������� )����� A>)�A�<8>8" $ B8

=$4$4 �������� ,���������������� $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ B8
=$4$3 0��	����� ������������������ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ =3

=$3 *��������� ���������	�� ��� ����� ������������� )�����
A>)�A�<8>8"�A $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ !4
=$3$4 �������� ,���������������� $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ !4
=$3$3 0��	����� ,���������������� ��� '��������������� 0��	������

	�� ���������� (�������������� $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ !6
=$3$6 0��	����� ������������������ ��� '��������������� 0��	������

	�� ���������� (�������������� $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ !<
=$6 *��������� ���������	�� ��� ����� ��������� )����� A>)�A�= >6 " <6

=$6$4 �������� ,���������������� $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ <6
=$6$3 0��	����� ������������������ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 4 6
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=$? *��������� ���������	�� ��� ����� ������������� )�����
A>)�A�= >6 "�A $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 4 B
=$?$4 �������� ,���������������� $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 4 B
=$?$3 0��	����� ,���������������� ��� '��������������� 0��	������

	�� ���������� (�������������� $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 444
=$?$6 0��	����� ������������������ ��� '��������������� 0��	������

	�� ���������� (�������������� $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 44B

, '
������
�+����%���������(��������� ��-
!$4 *��������� ���������	�� ��� ����� ��������� )����� A>*�A�<8>8" $ 44<

!$4$4 �������� ,���������������� $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 44<
!$4$3 0��	����� ������������������ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 43B

!$3 *��������� ���������	�� ��� ����� ������������� )�����
A>*�A�<8>8"�A $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 46 
!$3$4 �������� ,���������������� $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 464
!$3$3 0��	����� ,���������������� ��� '��������������� 0��	������

	�� ���������� (�������������� $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 46B
!$3$6 0��	����� ������������������ ��� '���������������

0��	������ 	�� ���������� (�������������� $ $ $ $ $ $ $ $ $ 4? 
!$6 *��������� ���������	�� ��� ����� ��������� )����� A>*�A�= >6 " $ 4??

!$6$4 �������� ,���������������� $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 4??
!$6$3 0��	����� ������������������ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 48 

!$? *��������� ���������	�� ��� ����� ������������� )�����
A>*�A�= >6 "�A $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 488
!$?$4 �������� ,���������������� $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 48B
!$?$3 0��	����� ,���������������� ��� '��������������� 0��	������

	�� ���������� (�������������� $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 4B3
!$?$6 0��	����� ������������������ ��� '���������������

0��	������ 	�� ���������� (�������������� $ $ $ $ $ $ $ $ $ 4B=

�� ���������� 	�	

- .��������������� 
�� ����
� �*�
<$4 ,��-��� 	�� 2�������������� ��
 	�� �������������&�������� $ $ $ $ $ 4=6

<$4$4 
�
#��������� ��� ������������������� $ $ $ $ $ $ $ $ $ $ $ $ 4=?
<$4$3 :����	������������������� $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 4=B

<$3 ������������ ��	 0�
���� ���������	���� *�������� $ $ $ $ $ $ $ $ $ $ $ 4=!
<$3$4 0�
���� ��	 *���'��� $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 4=!
<$3$3 ���	����������������� $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 4=!
<$3$6 ������ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 4=<

<$6 ,��������
��� ��	 ��������� 	�� *�������� $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 4!3
<$6$4 ,�����&�������� $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 4!3



����

<$6$3 ������ ��	 ,D���	�� $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 4!?
<$6$6 ��������� %��� 	�� ��������� �� /������� $ $ $ $ $ $ $ $ $ $ $ $ 4!B
<$6$? /���#��� $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 4!!

<$? ,��-��� 	�� 2�������������� $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 4< 
<$8 ,��-��� 	�� (������� ��� )����� ��#$ *������������	 $ $ $ $ $ $ $ $ $ $ 4<?
<$B ,��-��� 	�� 0��	������ 	���� 2������������ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 4<=
<$= ,��-��� 	�� 0��	������ 	�� ���������� (�������������� $ $ $ $ $ $ 3  
<$! ���������� 	�� ,��������
��� ��� ���	������ ������������������ $ $ 3 3

� ��������������� ���

�/ .�������������� ��� ������� �/*
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���������	
�������

3$4 ,��������
��� ��� 0��&��� ��	 ������� $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ B

6$4 ������������� ��	 (���������������� ��������� )������ $ $ $ $ $ 4B
6$3 ������������� ��	 (���������������� ������������� )������ $ $ $ $ 4=

?$4 ����#���� ��	 *�������� $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 34

B$4 A; :����	������������������� $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 6<
B$3 A; �������� ,����������������� ,,%* $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ ?4
B$6 A; ���	����������� �������� ,���������������� $ $ $ $ $ $ $ $ $ $ $ $ ?3
B$? A; ���	����� ������������������� �4;4;4" ,�����&�������� ���� 	��

��������	���� *��	��� 	�� *�������������	��� $ $ $ $ $ $ $ $ $ $ $ $ $ 8!

=$4 A>)�A�<8>8"; �������� ,����������������� ������ � *�����������&$ $ B=
=$3 A>)�A�= >6 "; �������� ,����������������� ������ � *�����������&$ $ <?
=$6 A>)�A�= >6 "; �������� ,����������������� ������� $ $ $ $ $ $ $ $ $ <<

!$4 A>*�A�<8>8"; �������� ,����������������� ������ � *�����������&$ $ 43 
!$3 A>*�A�= >6 "; �������� ,����������������� ������ � *�����������&$ $ 4??

<$4 )�������-���	������ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 4=B
<$3 2����-���	������ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 4==
<$6 0�
���� ��	 *���'��� ���������	���� *�������� $ $ $ $ $ $ $ $ $ $ $ $ $ 4=<
<$? ������� ��� �������������������� %�������� $ $ $ $ $ $ $ $ $ $ $ $ $ $ 4! 
<$8 �������� �������� ��	 ��������� $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 4!4
<$B )����� A; ���	����� ������������������� E�������,�����&������ $ $ $ 3 ?
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������������	
�������

3$4 *'���� ����� ����������(������������������ $ $ $ $ $ $ $ $ $ $ $ $ $ $ <
3$3 C���������������	��� ���� ������� �� ��$ F�0/!?G $ $ $ $ $ $ $ $ $ 4 

6$4 0��	����� ������������������; *��������
��� $ $ $ $ $ $ $ $ $ $ $ $ $ $ 4!
6$3 ����� ����� �������������� )������ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 4<
6$6 
���	���� ��	 ��#����� ������������� )������ $ $ $ $ $ $ $ $ $ $ $ $ 3 

8$4 
�
#�������� �� 
��������'��� 	�� �������� ����� 	�� )����� $ $ $ $ $ 63
8$3 2�� ������ �����'�&&���� %������� � *�����������&$ $ $ $ $ $ $ $ $ $ $ 66
8$6 )��&������ #������	 	�� ������������ � *�����������&$ $ $ $ $ $ $ $ $ 6?
8$? A; 2���������� ��	 2����-���	����� $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 6B
8$8 A; ������&�������� $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 6B

B$4 A; �������� ,����������������; ������ � *�����������&$ $ $ $ $ $ $ $ $ 6!
B$3 A; �������� ,����������������� ,,%*�*&�'���� $ $ $ $ $ $ $ $ $ $ $ $ ? 
B$6 A; �������� ,����������������� E���-������ $ $ $ $ $ $ $ $ $ $ $ $ $ $ ?6
B$? A; �������� ,����������������� �����-������ $ $ $ $ $ $ $ $ $ $ $ $ $ ??
B$8 A; ���$ ,����������������� *������	��'� � *�����������&$ $ $ $ $ $ $ $ ?B
B$B A; �������� ,����������������� ������ � *�����������&$ $ $ $ $ $ $ $ $ ?!
B$= A; �������� ,����������������� ,�����&������ � *�����������&$ $ $ $ ?!
B$! A; ���$ ,����������������� ,�����&$ 	������ *�������� � *�����������&$ ?<
B$< A; �������� ,����������������� ,�����&������ � ���'� $ $ $ $ $ $ $ $ 8 
B$4 A; �������� ,����������������� '���$ %��� � *�����������&$ $ $ $ $ $ $ 84
B$44 A; �������� ,����������������� /���#���� � *�����������&$ $ $ $ $ $ $ 83
B$43 A; ���	����� ������������������� �������������� $ $ $ $ $ $ $ $ $ $ $ $ 83
B$46 A; ���	$ ������������$� �4;4�4;6�!" *������	��'� � �������������	���� 8?
B$4? A; ���	����� ������������������� �4;4�4;6�!" ������ � *������	��'� $ $ $ 88
B$48 A; ���	$ ������������������� �4;4�4;6�!" ,�����&$� '���$ %��� �*������	��'� 88
B$4B A; ���	$ ������������������� �4;4;4" ������� ,�����&$ � *������	��'� $ 8=
B$4= A; ���	����� ������������������� �4;4;4" '���$ %��� � *������	��'� $ $ $ 8<
B$4! A; ���	����� ������������������� ���'�����$ ���'� � *��������
��� $ $ B 
B$4< A; ���	$ ������������������� ���'�����$ ������� ,�����&$ � *��������
��� B4
B$3 A; ���	$ ������������������� ���'�����$ '���$ %��� � *��������
��� $ $ B4
B$34 A; ���	$ ������������������� ���'�����$ /���#��� � *��������
��� $ $ B3
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B$33 A; ���	$ ������������������� E�������������� ,�����&$ � *������	��'� $ B?
B$36 A; ���	$ ������������������� E������ '���$ %��� � *������	��'� $ $ $ $ B?

=$4 A>)�A�<8>8"; �������� ,����������������� ����$ (��$ � *�����������&$ BB
=$3 A>)�A�<8>8"; �������� ,����������������� E���-������ $ $ $ $ $ $ $ B!
=$6 A>)�A�<8>8"; �������� ,����������������� �����-������ $ $ $ $ $ $ $ B<
=$? A>)�A�<8>8"; ���$ ,����������������� ������� ,D���	�� � *�����������&$ = 
=$8 A>)�A�<8>8"; ���$ ,����������������� ������H,D���	�� � *�����������&$ =4
=$B A>)�A�<8>8"; �������� ,����������������� ,�����&������� '��������

%��� � *�����������&������ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ =4
=$= A>)�A�<8>8"; �������� ,����������������� /���#���� � *�����������&$ =3
=$! A>)�A�<8>8"; ���	$ ����������������� E���-$ H �����-$ $ $ $ $ $ $ $ =6
=$< A>)�A�<8>8"; ���	����� ������������������� �������������� $ $ $ $ $ $ =?
=$4 A>)�A�<8>8"; ���	����� ������������������� �4;4;4" ������� ,D���	��

� *������	��'� $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ =?
=$44 A>)�A�<8>8"; ���	����� ������������������� ������ � *��������
��� $ $ =8
=$43 A>)�A�<8>8"; ���	$ ������������������� ,D���	�� � *��������
��� $ =B
=$46 A>)�A�<8>8"; ���	$ ������������������� �4;4;4" ,D���	�� � ������ $ $ ==
=$4? A>)�A�<8>8"; ���	$ ������������������� ,D���	��������� $ $ $ $ $ $ $ ==
=$48 A>)�A�<8>8"; ���	$ ������������������� �4;4;4" ,�����&������� '�����

���� %��� � *��������
��� $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ =!
=$4B A>)�A�<8>8"; ���	����� ������������������� ,�����&$ � *��������
��� =<
=$4= A>)�A�<8>8"; ���	$ ������������������� '���$ %��� � *��������
��� $ $ ! 
=$4! A>)�A�<8>8"; ���	$ ������������������� /���#��� � *������	��'� $ $ $ ! 
=$4< A>)�A�<8>8"�A; ���$ ,����������������� *������	��'� � &�����������$ !3
=$3 A>)�A�<8>8"�A; �������� ,����������������� ������ � &�����������$ $ !3
=$34 A>)�A�<8>8"�A; ���$ ,����������������� ,�����&������ � &�����������$ !6
=$33 A>)�A�<8>8"�A; �������� ,����������������� '���$ %��� � &�����������$ !?
=$36 A>)�A�<8>8"�A; *������������H)��������������� $ $ $ $ $ $ $ $ $ $ $ $ !8
=$3? A>)�A�<8>8"�A; 
,*�)��
��&��.�� ?  � $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ !8
=$38 A>)�A�<8>8"�A; 
,*�)��
��&��.��  � $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ !B
=$3B A>)�A�<8>8"�A; ����$ ���	$ *��������� E���-$ H �����-$ $ $ $ $ $ $ !=
=$3= A>)�A�<8>8"�A; ����$ ���	$ *��������� ������� ,D���	�� � *�����������&$ !!
=$3! A>)�A�<8>8"�A; ����$ ���	$ *��������� ������H,D���	�� $ $ $ $ $ $ $ !!
=$3< A>)�A�<8>8"�A; ����$ ���	$ *��������� ,�����&������� '�������� %���

� *�����������&������ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ !<
=$6 A>)�A�<8>8"�A; ����$ ���	$ *��������� /���#��� � *�����������&$ $ $ < 
=$64 A>)�A�<8>8"�A; ����$ ���	����� ������������������� ������� ,D���	��

� *������	��'� $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ <4
=$63 A>)�A�<8>8"�A; ����$ ���	$ ������������$� ,D���	�� � ������ $ $ $ $ <3
=$66 A>)�A�<8>8"�A; ����$ ���	$ ������������$� '���$ %��� � *������	��'� $ <3
=$6? A>)�A�= >6 "; �������� ,����������������� ����$ (��$ � *�����������&$ <?
=$68 A>)�A�= >6 "; �������� ,����������������� E���-������ $ $ $ $ $ $ $ <8



9��

=$6B A>)�A�= >6 "; �������� ,����������������� �����-������ $ $ $ $ $ $ <B
=$6= A>)�A�= >6 "; �������� ,����������������� /�������	���$ $ $ $ $ $ $ <!
=$6! A>)�A�= >6 "; �������� ,����������������� ),� $ $ $ $ $ $ $ $ $ $ $ <<
=$6< A>)�A�= >6 "; ���$ ,����������$� ������� ,D���	�� � *�����������&$ 4  
=$? A>)�A�= >6 "; �������� ,����������������� ������ � ,D���	�� $ $ $ $ 4 4
=$?4 A>)�A�= >6 "; �������� ,����������������� ,�����&������� '��������

%��� � *�����������&������ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 4 3
=$?3 A>)�A�= >6 "; �������� ,����������������� /���#��� � *�����������&$ 4 3
=$?6 A>)�A�= >6 "; ���	����� ����������������� E���-$ H �����-$ $ $ $ $ 4 6
=$?? A>)�A�= >6 "; ���	����� ������������������� ������ � *������	��'� $ $ 4 ?
=$?8 A>)�A�= >6 "; ���	����� ������������������� ,D���	�� � *������	��'� 4 8
=$?B A>)�A�= >6 "; ���	����� ������������������� '���$ %��� � *������	��'� 4 B
=$?= A>)�A�= >6 "�A; �������� ,����������������� *������	��'� � &������

������$ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 4 =
=$?! A>)�A�= >6 "�A; �������� ,����������������� ������ � &�����������$ 4 !
=$?< A>)�A�= >6 "�A; �������� ,����������������� ,D���	�� � &�����������$4 <
=$8 A>)�A�= >6 "�A; ���$ ,����������������� ,�����&������ � &�����������$44 
=$84 A>)�A�= >6 "�A; �������� ,����������������� '���$ %��� � &�����������$44 
=$83 A>)�A�= >6 "�A; 
,*�)��
��&��.��  � $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 443
=$86 A>)�A�= >6 "�A; 
,*�)��
��&��.�� 8  � $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 443
=$8? A>)�A�= >6 "�A; ����$ ���	$ *��������� E���-$ H �����-$ $ $ $ $ $ $ 446
=$88 A>)�A�= >6 "�A; ����$ ���	����� *��������� ������� ,D���	�� � *���

���������&������ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 446
=$8B A>)�A�= >6 "�A; ����$ ���	����� *��������� ,D���	�� � ������ $ $ $ $ 44?
=$8= A>)�A�= >6 "�A; ����$ ���	����� *��������� ,�����&������� '��������

%��� � *�����������&������ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 448
=$8! A>)�A�= >6 "�A; ����$ ���	����� *��������� /���#��� � *�����������&$ 448
=$8< A>)�A�= >6 "�A; ����$ ���	$ ������������������� ������� ,D���	�� �

*������	��'� $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 44=
=$B A>)�A�= >6 "�A; ����$ ���	����� ������������������� ,�����&�������

'�������� %��� � *������	��'� $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 44!

!$4 A>*�A�<8>8"; �������� ,����������������� ����$ (��$ � *�����������&$ 43 
!$3 A>*�A�<8>8"; �������� ,�����������������E���-������ $ $ $ $ $ $ $ $ 433
!$6 A>*�A�<8>8"; �������� ,����������������������-������ $ $ $ $ $ $ $ $ 436
!$? A>*�A�<8>8"; ���$ ,����������������� ������� ��	�� � *�����������&$ 43?
!$8 A>*�A�<8>8"; ���$ ,����������������� ,D���	�� � ������ $ $ $ $ $ $ $ 438
!$B A>*�A�<8>8"; �������� ,����������������� ,�����&������� '��������

%��� � *�����������&������ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 438
!$= A>*�A�<8>8"; ���$ ,����������������� /���#��� � *�����������&$ $ $ $ 43B
!$! A>*�A�<8>8"; ���	$ ������������������� �����-$ H E���-$ $ $ $ $ $ $ 43=
!$< A>*�A�<8>8"; ���	����� ������������������� �������������� $ $ $ $ $ $ 43!
!$4 A>*�A�<8>8"; ���	$ ������������������� ������� ,D���	�� � *������	��'�43<
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!$44 A>*�A�<8>8"; ���	����� ������������������� ,D���	�� � ������ $ $ $ $ 43<
!$43 A>*�A�<8>8"; ���	����� ������������������� ,�����&������� '��������

%��� � *������	��'� $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 46 
!$46 A>*�A�<8>8"; ���	����� ������������������� /���#��� � *������	��'� $ 464
!$4? A>*�A�<8>8"�A; �������� ,����������������� ��������� (��������

��������  � � &�����������$ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 463
!$48 A>*�A�<8>8"�A; �������� ,����������������� ��������� (��������

�������� 6  � � &�����������$ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 466
!$4B A>*�A�<8>8"�A; ���$ ,����������������� *������	��'� � &�����������$ 466
!$4= A>*�A�<8>8"�A; �������� ,����������������� ������ � &�����������$ $ 46?
!$4! A>*�A�<8>8"�A; ���$ ,����������������� ,D���	�� � &����������$ $ $ 468
!$4< A>*�A�<8>8"�A; ���$ ,����������������� ,�����&������ � &�����������$ 46B
!$3 A>*�A�<8>8"�A; ���$ ,����������������� '���$ %��� � &�����������$ $ $ 46=
!$34 A>*�A�<8>8"; ����$ ���	$ *��������� �����-$ H E���-$ $ $ $ $ $ $ $ $ 46!
!$33 A>*�A�<8>8"�A; ����$ ���	$ *��������� ������� '���$ %��� � *�����������&$46<
!$36 A>*�A�<8>8"�A; ����$ ���	$ *��������� ,D���	�� � ������ $ $ $ $ $ $ $ 46<
!$3? A>*�A�<8>8"�A; ����$ ���	$ *��������� /���#��� � *�����������&$ $ $ 4? 
!$38 A>*�A�<8>8"�A; �������� ���	����� ������������������� �������������� 4?4
!$3B A>*�A�<8>8"�A; ����$ ���	$ ������������������� ������ � *������	��'� 4?3
!$3= A>*�A�<8>8"�A; ����$ ���	$ ������������������� ,D���	�� � ������ $ 4?6
!$3! A>*�A�<8>8"�A; �������� ���	$ ������������������� ,�����&�������

'�������� %��� � *������	��'� $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 4?6
!$3< A>*�A�= >6 "; �������� ,����������������� ����$ (��$ � *�����������&$4?8
!$6 A>*�A�= >6 "; �������� ,����������������� E���-������ $ $ $ $ $ $ $ 4?B
!$64 A>*�A�= >6 "; �������� ,����������������� �����-������ $ $ $ $ $ $ $ 4?=
!$63 A>*�A�= >6 "; �������� ,����������������� ������� ,D���	�� � *���

���������&������ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 4?!
!$66 A>*�A�= >6 "; �������� ,����������������� ,�����&������� '��������

%��� � *�����������&������ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 4?<
!$6? A>*�A�= >6 "; ���$ ,����������������; /���#���� � *�����������&$ $ $ 48 
!$68 A>*�A�= >6 "; ���	$ ������������������� �����-$ H E���-$ $ $ $ $ $ 484
!$6B A>*�A�= >6 "; ���	����� ������������������� �������������� $ $ $ $ $ 483
!$6= A>*�A�= >6 "; ���	����� ������������������� ������ � *������	��'� $ $ 486
!$6! A>*�A�= >6 "; ���	����� ������������������� ,D���	�� � *������	��'� 486
!$6< A>*�A�= >6 "; ���	$ ������������������� ,�����&�������� � *�������

	��'� $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 48?
!$? A>*�A�= >6 "; ���	����� ������������������� '���$ %��� � *������	��'� 48?
!$?4 A>*�A�= >6 "; ���	����� ������������������� /���#���� � *������	��'� 488
!$?3 A>*�A�= >6 "�A; ���$ ,����������������� ����$ (��$ � &�����������$ $ 48=
!$?6 A>*�A�= >6 "�A; �������� ,����������������� ��������� (��������

������� ��: 6  �" � &�����������$ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 48!
!$?? A>*�A�= >6 "�A; �������� ,����������������� ��������� (��������

������� ��: 8  �" � &�����������$ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 48!
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!$?8 A>*�A�= >6 "�A; �������� ,����������������� ��������� (��������
������� ��: !  �" � &�����������$ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 48<

!$?B A>*�A�= >6 "�A; �������� ,����������������� *������	��'� � &������
������$ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 48<

!$?= A>*�A�= >6 "�A; �������� ,����������������� ������ � &�����������$ $ 4B 
!$?! A>*�A�= >6 "�A; �������� ,����������������� ,D���	�� � &�����������$4B4
!$?< A>*�A�= >6 "�A; �������� ,����������������� ,�����&$ � &�����������$ 4B3
!$8 A>*�A�= >6 "�A; �������� ,����������������� '���$ %��� � &�����������$4B6
!$84 A>*�A�= >6 "�A; 
,*�)��
��&��.��  � $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 4B?
!$83 A>*�A�= >6 "�A; 
,*�)��
��&��.�� 8  � $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 4B?
!$86 A>*�A�= >6 "�A; ����$ ���	$ *��������� ��������	 ��	 E���-����� $ $ 4B8
!$8? A>*�A�= >6 "�A; ����$ ���	����� *��������� ������� ,D���	�� � *���

���������&������ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 4BB
!$88 A>*�A�= >6 "�A; ����$ ���	����� *��������� ,�����&������� '��������

%��� � *�����������&������ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 4BB
!$8B A>*�A�= >6 "�A; ����$ ���	$ ������������$� E���-����� �$ �����-����� 4B!
!$8= A>*�A�= >6 "�A; �������� ���	����� ������������������� ������� ,D�

��	�� � *������	��'� $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 4B<
!$8! A>*�A�= >6 "�A; ����$ ���	$ ������������������� ,D���	�� � ������ 4B<
!$8< A>*�A�= >6 "�A; �������� ���	����� ������������������� ,�����&���

����� '�������� %��� � *������	��'� $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 4= 

<$4 
�
#�������� ���������� $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 4=?
<$3 :����	������������������� $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 4==
<$6 ������� $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 4!3
<$? 
��������'��� 	�� ,�����&�������� ��� 2����-���	����� ��	 ���������

*�������� ��� �������� (�������� $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 4!6
<$8 
��������'��� 	�� ,�����&�������� ��� 2����-���	����� ��	 ���������

*�������� ��� ����� (�������� $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 4!?
<$B ������ ��� ,����������������� ����� A�*�������� $ $ $ $ $ $ $ $ $ $ $ $ 4!8
<$= ����$ %����� �����	$ ��	 ���	$ ,���������������� $ $ $ $ $ $ $ $ $ $ $ 4!=
<$! ����$ %����� ���	������ ������������������ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 4!!
<$< ����$ %����� ����$ ���	$ ������������������ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 4!<
<$4 *�����; ������ ��� ,���������������� $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 4<4
<$44 ,�����&������ ��������� ,���������������� $ $ $ $ $ $ $ $ $ $ $ $ $ $ 4<3
<$43 *�����; /���#���� ,���������������� $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 4<6
<$46 ���������I'��Æ������� ��� ,���������������� $ $ $ $ $ $ $ $ $ $ $ $ $ $ 4<?
<$4? )����� A; �������� ,����������������� E���-������ 68 � $ $ $ $ $ $ $ 4<8
<$48 )����� A; �������� ,����������������� E���-������&��.� $ $ $ $ $ $ $ 4<8
<$4B ������ � ���'� 	�� �������� *������� A������������������� $ $ $ $ $ $ $ 4<!
<$4= ������ � ���'� 	�� �������� *������� ������������������ $ $ $ $ $ $ $ $ 4<<
<$4! /���#���� ������ ������������������� $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ 3  
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��� ����	����� ��� ��������� ��	 C��'������ 	���� E���-���������
����� ��� �����
���� ������ �� 	�� C��'��������������� ��'���� ��	 #��	 ���������� ����������$ �����
	�� E���-�����������	���� ��#$ 	�� 
�
������� ����� *������ '������ 	�� ,��������
�
��� 	�� 0���	'���&��� #�� �$�$ ��'��������� C���������
�����'���� ������� �������� ���
������&����� '�������������� �����������'��� ��	 ����������� ��� @�#���� �����'�����
�������� E���-���������������
��� '��������� #��	��$ (� 	����� �������� ����� �&�
�������� ���'��������� ���������� �	�� 	�'�������� ,��������
��� ���� ������� ����
������I�������	��'��� ��	 /������$ 2�������	��� ��� ���������I������ #��	�� �����
�� ��'������� 	��'�� �� ��'��� ��
��������� ����������������� ������� ���� J�����
���� ��
�������� ��� C��'���������������� �$�$ ��� �������� :������� ��	 �������I���
����������$ ��� #��� ��'�������� 	����� *����������������� ��� 	�� ���	�� ��������	�
)�5K ��� 	����� �������� ������������ *&���������� ��	 C��	�������	&������ ������
���� ���������� ��������������� C��'������ ����&����#���� *���	��������������� ��
	�� (���
����$ ��� )�5 ������� ��� 	�� A����	��� 5����	�� ��	 ����	�� 	�� �+����
������������ �� 	�� ������������ ����������$ *�� ���	 	�	���� �����'���������� 	���
��� ��������	�� ������������ ���	���������� (�����'��� ��	 ��
���� 	�� *������
��� ��
 ������������ *��������� ���������� 	�� ������ @�	��� �������$ *�������� ���
*��5�� 
�5� *�A� ��A ��	 A �������� ��� 0��&&� 	�� '��������� ���������$ �����
������ ��	 C��������� ������ ��� ���������	�� '��������� ���	���������� ��� 	��
��
���� @�	��� ��$ (� 	�� ������&������ ���������� �������� ����&����#���� 
��E�

��	 (�E�� 	���� ��������� *���������� ��� 	�� 
����� 	�� ������&������ ���	�������
����� ������� ��	 	���� *&���	��'��� ��	 /��'������������ ����&������	 ��������
F���!<� ���<4� ���!BG

��� 
�
��	������� �� ����������������� �������� �� ����� ��
���� ��� *��������
#��'����� ����� ������ ��	 (�����'��� 	�� *������#��'����� ��	 �������� C������#���
'����� ��� 	�� �����'������������ F���!<G$ +� 	���� *�������� #����� �&��������
��	 ��
 	�� �&�������� ,������������� ����� ������'���������� 	�� *�������#��'������
	�� �����'������������ ��	 	�� �����&������������� ��&����� �� '������� #��	��
��������	��� �����&�� ��� *��������
��� ���#��'���$ ,��� E&��������� 	�� ,�����
����
��� 	�� *�������>*�������������	�� '��� 
������� �������� #��	�� 	���� 	�� 
��



? � ���� � �� ���������	 ��
 ���	�
���������	

�����	��� 	�� *�������� ��� ������������������� ����������� *��������� ������	�������
���� �����'����������
������� �	�� ����'���������� *��������� �+������������������ ��	
0��	���������������$

,��� �����	��� 0��&&� ��������� 	�� *����������������� ��� ���������I������ ����
	�� 	�� ��&�������� ������������ �� 	���� �������� ���5 ��	 ��A ��������$ �������
������� 	�� �������� ��'����� ������ ��	 ���5 	�� �#�����������$ ����� *���� ������
���#�����	 '������� �����	�� ��� ��	 �������� �����������	� &�1��'�������� ����
������ ��	 ������������� ,��������
���$ ,�� ��	�����	�� &����������� ,�������������
	����� *���� ����� �� 	�� /����������	����� ��	 �� ���������I������ ��� C��'������
��	 ���������$ ����� ����������� '������ ������� 	�� ���������� 
������	��� �A��
���
�����" �	�� 	�� &�1��'�������� 
������	��� ��������
�����" ��� 	�� 0��&���
�� ��� *�������� ���������	�� #��	��� #���� ��� ���������� ���� 	���������������
������������������� ��%A�*��������" �����	�� #��	��$ ��� ��
���� 	����� �������
���#�����	 '������� �����	���� *�������� ��� ���'��� 	�� ��� ���������I������ ��
C��'������ ��
��	������ ���	� ������ ����� ���� ��� ���I��� ���� �����������	 ���������
������� 	��$ ��� *������	��'� 	����� ��&��������� ��������� *�������� ��� 	���� ���
�� ,�����&�������� ��� ����� 4 0�� ��	 	�� �������� �+������� ��� ����������
�����	���� *������� ��� '������� �����	���� *������ ��������� 	� 	���� ��� ���������
��� ������������ �� 0����-������������� 
������$ ��� ����� ,�����&�������� �����
	���� ��
 0���	 &�1��'�������� (������������� ��������	��� ��� 	�� 
������	���
��� �%A�*�������� ��� 	�� ����� ������ ������$

2� 	����� 
����� ���� �����	 	�� ��	�.������� 	�� �+�������� ��� *������� ���
����������������� 	���� 	�� �����-������ 	�� *��������
���� ��� ���� ����&�������
	�� 
����� ��� %������ 	����� ��
�����&���������' ���
���� #��	��$ ����� ���� 	��
������������ 	�� ,�����&�������� �� 	�� 0����-����� 	���� ���	����� *�������� ���
#��'� #��	��$ ����� *�������� ���	 ������� ��������������������� ��
 �����������
��������� ��
���������$ ����� ����������	����� 0��	������ �� *��������
��� ���� ���
�� ,�������� 	�� C�	������	�� ����� �	�������� �������� ������ �����������������
��� ���������� #��	��$ ��� ,��-��� 	�� 0��	������ �� 
�
��� ��	 ,��������
��� 	��
*������ ������1���	��������� ,�����&��������" ��� ��� ���� ��������'��� ��� %������
	�� ��
�����&���������' �� �����������$ C�������� ������ *�������� ��� '������������
���� 0��	������ 	�� ���������� (�������������� ���������	�� ��	 �����'���������
#��	��$ ���� ������ (������� ��� )���� ��#$ *������� �� 	�� �������������������
���������� #��	��$ )���� ���� ���������� #��	��� #��� �� ����������� ��������� ���	��
��	 	�� ��
���� ��� )���������	 ��
 ���������� ������������� ���$ *������� '������
��� ������������ 	�� ��
���� ��
 ������������ ��� ������� ����� 	� �� �� ��������
������ ���	����� ��� *������� ����� ��	 ������ '��������� ���	���������'��� ���
�����$ (���������� ��� 	�� ,��-��� 	�� ����������� 	����� ���	�� ��������'����� 	��
0��	������ �� 
�
��� ��	 ,��������
��� ��#$ 	�� ���������� (�������������� ��
�����������$ (�� ����������� 	�� ,��-����� 	����� ����������	������ 0��	�������� ��

	�� ��������� ��	 	�� ,��������
��� ���������	���� *�������� ������ ��� ���������
��������� ,���������������� 	�� ����	�����	�� *�������1����� ���� ��	 ��� �����	��
����� (�������� ����������� ��	 ���������� #��	��$



8

������� �

�	�������� ��� ����� ��	 
������

��� ������������ ��� ��������� ��� 
��'��������� *�������� ����������� 	�� ��������
�����-������ 	�� ,��������
��� 	����� �������� ��	 	�� E&��������� ����&������	 ���
��� ,��������������$ ,��� �����	��� /���� �&����� 	���� ������ ���������I���� *������
��� ��� ���	����� /���#����� ��� 
�#��	��� ��� *�������� ��� *����� ��� ���������I
��� ,�������� �$�$ 	�� *���	���� ��� C��'������ �� ���� ��� 	�� ����
���� F���!BG$
2� 	�� 2�	������ ��� ���I�� ,�
��� ����������� *�������� ��� ���������I���	�����
���	 �$�$ )�5� )�A� )��A�5"� 
��E� ��	 �)��
�"5 F**�<8G$ ��� ,��������
��� ���
*�������� '������ 	���� ������'���������� ��� ��������	���� *������'����&��� ���'�
���� ���������� #��	��$

��������� �!��!����

2�������	��� ������������������� �������� �� 	�� ����
��� ����� ,��������
��� ��� ���
��� ,������&��������$ ��� ,��������
��� 	����� *�������� ��������� �� ����� #�����
������� �#������ 	�� ,��������
��� 	�� ���	�� '����������� ������ 	�� ������������
	�� 0��&���� ��	 	�� ��������$ ,����� #������� ,��������
��� 	����� ���	�� ������
���	 �� )������ 3$4 ����������������$

���� ������� ���	��� �� ���� ����� 5�������	�������� �� ���� �����������
����� 	�� �����������$ ��� ������������� ������� ��� ������	����� �����	����� ����
�1���	�������� ���������������� ��� ���� '����� ���	�����������	�� � �48? ��"� 	��
�� ���� ����'�� ���	����� 
������$ ������� ��� 	�� ��������� ��'����� ��������� ���
	�� ��������� ,��������������	��� ����� ����� �&���.����� ���'�������� C�	������	�
������� ������������������ ���� ���� C���������
�����'��� ��	 ��� �&����� �����&��
���� �� ���������� ��	 �� ��
������� �������$ :����� ��� 	�� ���'��&����������� ���
A������������������� ���� ��� F�*<<G$ ������� .�	�� �$�$ 
�#��	��� �� ���
����� 	�� *�����	� ��	 *�����
#��'����� ����&����#���� ��� 
��������������������
�� C��������������� ��� 2�
������ ��	 ��'��#�����
������� ��	 �� ������� ����������
����'�� ����
��L������������ F���  � ,%�� 4� *��  G$

��� ������� ����� 	�� ����������� ����� 5�������	�������� ��� 	�� 0��&���$ ,�
������� ��� ����� *���� �����&����� &��������� *������������ ��� ��9��������� ����



B � ���� � �� 	���
��	�� ��
 ����
 
�� �������

%��������(	 "
����	 ���#��	

����	�: �9�#� E:EF @:AE

���
	�: �$ EG<-@F<� AF<<-/<G<<

����? ��? 4���
�	���: H �# �����
 /<�� /<��

����
���	 /

	��
#? 5��	(��������	: 4 �#��  �� �����
 /<�� E<

%���	���	��	�#
���: "'� �����
 IA< /<A<

����
���	 A<

����� ������	
����	
�
 �������	
���
 �����	�

)������ 3$4; ,��������
��� ��� 0��&��� ��	 ������� FM�  � *���<=� :/<<� ���<6G

�1���	�������� ���������������� ��� ��
����	 	�� �������� 
�����	� � �4?3 ��" 
��
���� ���	�����$ ����� ,����� ���	 	���� ������� ���#���� ����	���C��������	�����
��������	�� ������	�� �
�����	  �668 ��"$ 0��&��� ������� ���� ���� ��������� *���
�������� ���� ��� ����� )��&�������� �� ������9�	�����	�� +���������� ���������
	�� *������������ ���� ���������� ��	 ���'������� %���
�����'���� ���� ������� ������
��	 ����� ���	����� /���#���$ 0��&��� .�	�� 
�#��	��� ��� ����������������� ,��'�
���	���������� ��	 �� ���������I������ ��� 0����� ��	 *������������ F*���<=G$

,��� #������ ������ ��� ������������ ���	 	�� 	������������� ����������� ��%A"�
	�� ���� 	���� ���� ������� ����� ���������I#�	������	� ������� /���#����� ���������
/�������� ��	 ������� ���� )��&����������
�����'��� ��#�� ����� ����� ���'��������
C�	������	 �����������$ 
��� 	�� ���'��&����������� ��� �%A�*�������� ��� ���� ���
F�0�<=G� �����	���� ������ ,��������� ��� %���������������� ���� ��� FA%  G$ �����
*�������� #��	�� ��� ����&��� ��� *�������������� 
��� ����������� ������������� 
���
*�������	��%����� ��� ������� *������ ��
 0������� ��� *������������ ��	 ��� 
������
-�9����������� 
��� 2�
�������@�'���� ���������� F,%�� 4G$ ��� 	����� *�������� ����
	��� �� ���� �� ����&�� ������������������� ���� '���������� :�����	���� ��� ������
���� 
������� �� ����� ���� ��	 �����1���	�������� ���������������� ��	 ���������
C����������������� F0�<?G$ 
�������� ��� 	�� ����������� #��	�� �%A�*��������
�� #���������
���� ���A" ��	 #���������������� ���A;�" ����&�� �����������������
��� ���������� F
��!BG$ ���� C���������������� 
���	��� 	�� ���	��� ��� &��1�����
���A�� ���4" *���'������ #����� 	�� ���������	���� ��������������� �� ���	����
�� ��� C��������������� �#����� ��	 �� ��� 
���� ��� ,�����&�������� ��	 ���
/�	�������� 	�� ������ 
������ F�(%� 3G$ 
���&�� ������������������� �������� ���
	���	������������ 5���#��'��� �������� #�� 0���� �� 	�� 	�� ��������������� �� #��
���� (������ 5�������� ���I�� ��������� ��� ���&������������� ��#$ 	����������������
���.�������� ����������	���� ���������� ������	��� ���	 F���2B G$ %��� ,����������
	�� �&������� *&�'����'�&�� ��� *���'��� 	�� *�������� '��� ��� ��
 ����������	�
	�� ��������������� ������I��� 	�� ��� ���I�� ���&������������ 
�����
����� �� 	��



=

�%A�*�������� �������� ���������� 	� 	�� *�������� �9���� '����� ���'������� %���
������
'����� ��
#����� F
��<3G$ ����� *���'��� ��� ���������� 2����� ������� 
�
���� ��
����������� �����9 #��	� ������� ��� ,�'������� 	�� 
�
���� ��� ����&��� *�������
������������ F)��!6G$ +������������� �� ����&��� *�������� ��� ���������	 	��
������ ��� ������� �������� 	��� 	���� ���� �����.'���� 
����� ��� ���������	����
�������� ������� ��	 :���
�������� ������	�� ���	 F����<BG$

0���������
������� ��� ������ '
������
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��� 	�� ���� ���������	����
��	 ������������ *�������� ���� ������� ������ ��� 
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���� *������ �� ����������� 	���� E���-����� �������� ������'��������� ,���������
�������� ���$ 
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'���$ ��� ���&������� 	�� *��������� 	�� ��� ����� *�����������&������ ��� ����
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�����$ ��� ������� *�������� ���	 ����&�$
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	� 	���� ,��������� 	�� *������	��'� ��� ��� *�����������&������ ��� 6  � ���
���
� 	�� /,� 	������
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HF-Substratvorspannung / V


����	��� B$8; *������	��'� ��������� ,���������������� �� 
��������'��� ��� 	��
*�����������&������� )����� A

���������&�������� ���  � ��� 3  � 	�&������ #��	��� ���������� ��
 	�� �������
�������������� 	��'������ ��	 ��������	� ��� 38 � ��	 6  � �������� ��������	 ��	
�� 	�� E���-����� �����&������ ��� *�����������&�������� ��� ?  � ��� B  � ���	
	�� *�������� 	��'������������ ��� �������#��� ��	 ����$ *�����������&��������
��� 68 � ��	 ?  � ����� 	�� ������������ 	�� *�������� ��� :����$

��� ��� ����� *�����������&������ ��� ?  � ������������ *������ #�� ���#���
��	 	�� E���-����� #������ ���� ����������I�� ����� 	�� ����� 	�� *���������� #�� ���
���I�� 
��� �� ��'����� #��$ ����� *������ ������ ���� �� ��#������� ������� �������
��� �������� ��������� ��� *�������$

��� ���'�� 	�� ���	�� ��� 38 � ��	 6  � *�����������&������ �������������
*�������� ���	 ���'���� �������� ��� 	�� ���'�� 	�� �������� *��������$ ��� 	�����
���	�� *�������� 
��	 @�	��� '���� ������������ #������	 	�� *������#�������� ��
	�� ���� ��#������� 
�� ������ 	�� *����������-����� ��� ������� ��	 �����$

:��� 	�� 
������ 	�� 
�
#��������� 	�� ��� 38 � ��	 6  � *�����������&���
���� 	�&�������� *�������� '��� 	�� (������ 	�� ������ ��	 	�� (����������� 	��
������� ��
��#�������� *������ ��� 	����� *�����������&�������� ������#������� ���
����� #��	��$ ������ ,��'� ������� ��� ,������� 	�� 2����������� #����� ���������
#�� ���� 	���� 	�� C���� 
��� 	�� 
�
#��������� ��� 8  � ��#$ ��� B  � *��������
����&������ #�	������ #��	$ ����� ��� �����	���� �� ��������� 	��� 	���� *��������
���� ��	��� ���&������� ��	 ��� ��	���� �&������� ��������� ��
#����� ��� 	�� ���
���	����� 2����������� 	�&�������� *��������$ 2��� :���� ��� ���#���� 	�� E���-�����



���� ����	��� �����	����������� ?=

��� �� 0�������� �� 	�� ��	���� *�������� ���� ��	 ��� �������� ���� ��	��� E����
-��������&����&���� ���$ 
��$ B$6$ ��� #���� ��
 ����� ���&��������� A����'��� ��	
���� ����� E���-����� 	�� *�������� ���� 	�� ���� ����� ,��-��� ��
 	�� ���������
	�� 
���� ���� (������������������� ����� '���$ ,��� #������ ,�'������� ����� ��
	�� ,�������� ��	 ��������I��	�� �������� 
����'�� 	�� ������ ��� �������	�� 2��
����������$ ,���
���� '��� 	���� 	�� ����������	������ ���	����������������� �� 	��
������� ��
��#�������� *������� 	$�$ ��������	��� 0������ �� ���������	���� 
���
���� 	�� ��������� ���������� 	�� ��
���� ��� 
	������ �����-���� #��	��$

/(	(� 
�����!������ ��% ��
������


� 	����� ��������� ,���������������� #��	��� ��#��� 	�� �������� #��� ������� ,��
����&������� '�������� %��� 	�� ��������� ��	 /���#���� ���������$

��� ,��������� 	�� ������������� ���	 �� 
����	��� B$B �� 
��������'��� ��� 	��
*�����������&������ ��
��������$ ��� ������ 	�� ���� 2������������ ���������	����
*�������� �������� ������� 4?  �� � 8$ ��� �������	�� *�����������&������ ��� 6  �
������ 	�� ������ ��
 ����� ?   �� � 8 ��$ :��� *�����������&�������� �#������ 8  �
��	 B  � ���'�� 	�� C���� ��� ?   �� � 8 ��
 3   �� � 8$ ��� ����������� ���
�������	�� ,��	���'���
� ��� 0������������	��'� ��� ��� *�������� ��� ����� 3��
���'�� ���$ 
��$ B$B ��	 B$8� ��� ��� ��  �= ��	�����	 ������ ��� 	�� 2	���#��� ���  �4$
:��� 	��'��� *�������� #��	�� ������������� ��� ��� ��  �38 ��������$ ����� ���	 	��
����������� ������#���� ���� ����' ��� *�������� ���� 	�� ����������#��	�������	�
&������ ��� ����� ������ ��� ��$ 4?8 �� � 8� �����-����� ���$ ��& ?$= ��
 *$ 38$ ���
����������� 	�� ����������� ������#���� ������ 	��� 	�� ������� 	�� *�������� 	�����
#�� ������ ��� 	�� 	�� *��������� ���	� 	�� ��� *������� �������-������ C���� �������
���� ����I�� ��� ���� ��������� ����$

��� 	�� ,�������� 	�� ������ '��������� ���� 	�� *��������� 	�� C���� 
��� 	�� ,��
����&�������� �� ������� ���  � ��� 3  �� #�� �� 
����	��� B$= �� ����� ���$ :���
	�� ��� �������� *�����������&������ 	�&�������� *�������� '������ '���� C���� ���
������� #��	��� 	� 	�� *�������� ��
 	�� ��������� *����������������'�� ������ #����
��#$ ����#���� 	������������ ��	 ����� ������� *&�������� �������� �����$ ��� '���
&�������� ,�����&�������� ������� ��� ,�������� 	�� *�����������&������ ���  �
��
 3  � ��� � �80�� ��
 �3� 0�� ��$

�� ��� ����� *������	��'�� 	�� �������� ���
������ 	�� ��������'�� ������� ���I
��� ��	 	���� ��� (���������� 	�� ��������'��� �	�� 	�� *��������*�������������	��

������ '���� #��	� ���� #������ ������������� ��� ,��������� 	�� *&�������� ���
*�������� ��� ���������� *������	��'� ��	 	���� ��� ���������� 
������#����� 
���
	�� ,�����&������ 	������
�����$ ����� ��
����� 	�� ������������ ��� @�#���� �����
*�����'�� 	�� ���'�  �6=8�� ��	  �838�� ��	 ����� ��� *���������'����� ����#����
����	��'��� *��*��������� ��� ��������I��	�� *������	��'������������ ���� 	�� ��
��&���� ?$4 ����������� ���
�����$ ��� �� ��&���� 6$6 ������������� ��������&������
��� #��	�� ������� ����
���� �����������$ ��� ��� 	�� @�#������� �������������	����
��� 4 ��� ���������� *������	��'�� ��������  �44�� ���  �4!��$ 2� 
����	��� B$!
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HF-Substratvorspannung / V

Schichten teilweise delaminiert


����	��� B$=; ,�����&������ ��������� ,���������������� �� 
��������'��� ��� 	��
*�����������&������� )����� A
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HF-Substratvorspannung / V


����	��� B$!; ,�����&������ 	������ ��������� ,���������������� �� 
��������'���
��� 	�� *�����������&������� )����� A

���	 	�� ,��������� 	����� ��������� 	����������$

��� C���� 	�� ,�����&�������� ������ �#������ �4�!0�� ��	 �460�� ��	 ���
��� ��� ��9���� ��� ����� *�����������&������ ��� �� 8  �$ ,�� ��������� ���

����	��� B$= ������ 	��� 	�� 	������ *�������� 	����� ������������� ������� ����'���
����&�������� ��
#����� ��� 	�� 	��'���� *�������� ��� 	�� ������������� ��� @�#����
'��������� *�����������&������$ ,��� ,�'������� 	�
��� '������ ����� 	��� 	�� *&���
������ ��������� �� 0����������� ��� *������� ��	 *������ ���� ���� ���	 ��	 	���
	���� ������� ����� *&�������� ���� ��� 	��'���� *�������� ����� 	�� ���������� #������
����&����� *������������� ������� '������$ C�������� ��� 	�� ,��-��� 	�� ��������
)��&������ ��� �������� �������������	����� � ���� ��� 2������������� 	�� �#�����
#���� ��� 	��'���� *�������� #���� 	�� ��������� �������������	���� ��
������ ����� ��
����������������$

,��� ��������'���� 	���� �#���� )������ �� ����.������� ���� *�������� ��������	��
��� *������	��'� ��� 	�� �������� �������� ��������&��������� ������������$ 2� 
�����
	��� B$< ���	 	�� ,��������� ����� ��������� �������� ��� 	�� ��� �������� �������������
&��������� *������	��'�� ���  �4=�� ��� 4�<�� ���� 2������������ ���������	��
#��	��$ ����� #��	 ��� ,�������� 	�� *������	��'� ���� ������� 
������ 	�� ,�����
�&�������� ��� �3�B0�� ��
 � �B0�� ����������$ ����� /�	�'���� 	�� *&��������
�������� ���� ���������	 ������$ ��� ������
 	�� C���� ������ 	��� �� 	�� 	������ *������
���� *&�������� ������	�� ���	� 	�� ��� ����I���� *������	��'�� ���� ��� ���� *�������
�������� �������� #��	��$ �� 	�� ,�����&�������� 	�� *�������� �������� ���������
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����	��� B$<; ,�����&������ �� 
��������'��� ��� 	�� ���'� ��������� ,��������
���������� )����� A� ���������	�� ���� *�����������&������

#��	��� ���$ :����� ?$? ��
 *���� 38� ���������� 	����� ������
 	�� ,�����&��������

��� ��������	�� 	��'� *��������� 	�� ��� �������� ��	�������� ����������� #��	��� 	��
���� ��#������ )������$ ����� 	�� �������� �������������	���� ��� 	�� �����������
	��'���� *�������� ������ 	�� )��&������ ��� �� 	��� /���9����� �����.�	�� '�������
@�	��� ��� 	����� 
������ ����� #���������� ���$ 
��$ 8$6 ��
 *$ 6?$

2� 
����	��� B$4 ���	 	�� ����������� '��������� %����� 	�� ��������� 	�� *������
��� �� 
��������'��� ��� 	�� *�����������&������ 	����������$ E��� *�����������&���
���� #��	 ���� 	�� �������� '�������� %��� ��� �� ? 5 ��������� 	�� ��� ��������	��
2����������� ������ ��� ��
 ��$ 4 5 �������$ ,�� ��������� 	�� ������ 	��� 	�� ����
	������������ C���� ��� 	�� C����� 
��� 	�� ,�����&������ ������� 	��� 	�� '��������
%��� 	�� ��������� ��� ,�������� 	�� ,�����&������ �������$

2� ���������I��������� ��� �������������� 0����������� ��� /������&��������
��� 33ÆA ��� 36ÆA ��	 ��������� :������� �#������ 3B7 ��	 6?7 #��	�� 	�� /����
#���� ����� 4  A�B� *������� ��	 ��������������I ���������$ *���'� ����������� 	��
:������ �����-����� 	�� /���#��� F�**<BG� #�� @�	��� ���� ����� ������� 	� 	�� :�����
��#���� ����� ����' ���������; ��
 0���	 	�� :������� ���	 	�� ,��������� ������������$
*�� ���	 �� 
����	��� B$44 �� 
��������'��� ��� 	�� *�����������&������ ��
��������$
��� /���#���� ������� ��� ��������	�� 2����������� ���  �48 ��
  �3? ��$ ��� ���
C���� ������� ����
���� ��� 8�8 �� � �" ��
 3< �� �6  �" ��	 48B �� �8  �"$ ���
*���������������I�������� 	�� �������� ��� ��� �� 6  � *�����������&������ �����
�����	���� *�������� ������ �� 	�� �������� 0���I����	���� 	��@����� 	�� *������ ���
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HF-Substratvorspannung / V


����	��� B$4 ; ��������� %��� 	�� ��������� ��������� ,���������������� ��

��������'��� ��� 	�� *�����������&������� )����� A

������ E���-������ ���$ 
��$ B$6� ��� �#�� 0���I����	������ ������$ ��� 	����� ����� ���
	�� *������ ��� ��� *������� ������������$ ��� ��������������I ����� ��� �������	��
2����������� ����
���� ��$

%�� 7�
����	� #����
���������	�� ��	 
��	�����(

��� �������
���������

��� ���	������ ������������������ #��	�� ��� 	��� ����������	������ *�����������
�&�������� 	�&������� 	�� �� ����� *��
��&��.� �������� #��	��� ���$ ��&$ 6$6$3 ��

*$ 4=$ ��� 	�� *������	��'��������� '������ �� �����������������	 '������������ /���
�� ���������� #��	��� 	�� 	���� ��� �������������������1������ ��'������ /�����
�������$ ,9��&������� ��� �� 
����	��� B$43 ���� �������'���'�&����� 
�
����� �����
������� ��������������� �������$ ��� '������������� /����� 	�� 	�� 0������ �#������
	�� ,���������� 	�� ���������������� ������� ���	 ��'�����������$

2� 	����� ������������� #��	� ����������� @�#���� ������� ,����������	��'�� ���
	�� 	��� ��#������� *�����������&��������  �>48 �>6  � ���������	��$ 
�� 	��

�
#��������� 	�� ��������� ,���������������� ����� ���� ������� 	�� (��������������
4 ; 4�4 ; 6�!$
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����� 4  A�B
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�
����� ����� ��������������� �� ����� 	��
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��� �����-������ 	����� *�������� ���	 �����$ (�� ��������� ����������� 	�� *���'���
	�� *�������� #��	�� ��������	����'����������� +������������� �� ���������������
��	�� 	������
�����$ ����� �������� 	��� ���� ��������� ,���������������� ���������
����&� ���	$

��� ���'� 	����� *�������� ��� ��������� ��� 	�� �������� �������������	����
��	 �������� �#������ 4�!�� ��	 <�6��$ 2� 
����	��� B$46 ��� 	�� @�#������ *�������
	��'� ����� 	�� �������������	���� ��
��������$ 2� 0�������� �� 	�� ��� ���������
,���������������� ������������� ����������	������ 
�
#��������� 
��� 	�� ��������	��
��� *�����������&�������� ���	 ��� 	�� ���	������ ������������������ 	�� ���'�
	�� *�������� ������ ��������� ��� 	�� �������������	����$ ��� #���� 	����
 ����
	��� 	�� 
�
#��������� ��� ���	������ �������������� ��� 	�� 	��� ��������	����
2������������ @�#���� ������ ���I ���	$ ���� ����� ��� C�	���&���� �� 	�� ��� 	��
��������� ,���������������� ������������ *���������� ���$ ���� ������ ���� ����
	�������� ������������ 	�� 
�
#�������� ��� �������������������� 	�� ��
 &��������
���������� ��� 38 � ��	 6  � ���������	�� #��	��$ ��� ������� +���������	 �#��
����� 	����� �������������� ������� 	����� 	��� ��� 	�� ��������� ,����������������
	�� ��� 6  � ���������	��� ,��������� ��
 	�� &�������� ��	 &�������������� �����
�������������� 	���'� ��
#����� #��������� ��� 	�� ������������� �� 	�� ���	������
������������������ 	�� *�������� ��� 48 � ��#$ 6  � @�#���� ��
 	�� �����������	
���������	���� �������������������� ��
��#������ ���	$ ��� #���� ��
 ���� �����-���
���� 	�� 
�
#�������� 	���� 	�� +��������	 �� :���� 	�� 6  ��*�������� ���$

���������� ��� 	�� �� 	�� ���������������� ��'�������� '������������� /���� ���
	�� 0������ �#������ 	�� ,���������� 	�� ����������������� 	�� ��� ����������	������
*�����������&������ ��	 ��� 	�� ,����������	��'������������� 4 ; 4�4 ; 6�! �����������
#��	��� �� '��� ��� ��
 	�� ,����������	��'�� 	�� 0��	��������������� ������I��$
C���� 	�� ����#���� ���� �������� ,����������	��'�� ��� 	�� :����� ��� 	����� ,���
��������	��'������������ @�	��� ������� ����$ 
�� 	����� ,����������	��'�� ��	 	��
@�#������� �������������	���� ������ ���� ���� 
�
#��������� ��� ��$ 4�<����$ *��
����������� 	��� 	�� 
�
#�������� ��� 	����� ��� ���
��
������ ������������� 2�����������
���������	���� *�������� ����������� ��� 	�� *�����������&������ ���$

/(�(� 
�����!������ ��% ��
������

(�� ���������� 	�� ,��������
��� ��	 	�� ���������� 	�� ���	������ ����������
��������� ��� �������	�� ,����������	��'�� #��	�� 	�� ������� 	�� ,�����&���������
	�� '�������� %��� 	�� ��������� ��	 	�� ������������� ��������� ����������$

2� 
����	��� B$4? ���	 	�� ���� 	�� ���'������
����� ����������� C���� 
��� 	��
������ �� 
��������'��� ��� 	�� *������	��'� ��
��������$ ����� #��	� 	�� *������	��'�
����� ������������ 	�� *�����������&����������
�� ��	 	�� %����	��'���������������
	�� ,���������� 	���� 	�� 0������������������	���� ��������$ ��� 	������� *������
�������� ���� ������ ��� 3?  �� � 8 ��� ����� ���'� ��� 4�!��$ ��� ��������	��
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*������	��'� ��� �� <�6�� ����� 	�� ������ ��� ��
 86  �� � 8 ��$ ����� ��� 	��
��9����� ������ 	����� ���	������ ������������������ ������ ��� 	�� ������ 	�� ����&���
����	��� ��� 6  � ���������	����� ��������� ,��������������$ ��� 	����� ���������
��� �� ��������� 	��� 	�� 6  ��,�������������� ��$ 3�� 	��' #�� ��	 	�� ������� ,���
������� ���� ����� ?�� ���'� ��
#����$

��� ,�����&�������� 	����� *�������� ������ �#������ �3�=0�� ��	 � �=0��� ���$

��$ B$48$ ��� 	�� ���������� *������	��'� ��� 	�� ,�����&������ ��9����$ ��� ���
������	�� ���'� ����� 	�� ,�����&������ ����' ��$ ��� �������� C��� ����&�����
	���� 	�� ��������� C��� 	�� ���� 2������������ ���������	���� ��������� ,���
������������$

��� C���� 
��� 	�� '�������� %��� 	�� ��������� ���	 ����
���� �� 
����	��� B$48
�� 
��������'��� ��� 	�� *������	��'� 	����������$ *�� �������� �#������ 485 ��	
645$ ��� 
������ 	�� C���� ��
���� ��� �� ����� *������	��'� ��� 6�8��� ��� #�������
,�������� 	�� *������	��'� #��	 ��� ���� ���� ������
������ *��������� 	�� '���������
%��� ��������$


� 	�� ���������� ����� 	����� ������������� #��	� �9��&������� 	�� /���#���
����� 4  A�B ��#�� ���������I ��� *������ ��	 0����'���&�� ���������� ���$ ��&$ ?$<
��
 *$ 3=$ ��� /������&������ #������	 	�� ,��������� 	�� /���#����� ������ 33 ÆA�
	�� �������� %�
�
������ 637$ ��� /���#��� ��������  �4!� 	�� *���������������I 6	 8! �
4 ����� ��	 	�� 0����'���&�����������I B	  3 � 4 ����� ���� 4   �$ ����� C����
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������ �� �������� ������� #�� 	�� 
��� ���������� ��������	�� �������� ,��������������
���$ 2� ��������� �� 	�� ��� 6  � *��������&������ 	�&�������� *������ ����� ����
	�� ���������I 	�� 0����'���&��� �� ���� 0���I����	���� ���	�����$

%�� 7�
����	� #����
���������	�� ��	 �������� ���(

����
���������

����� ���	����� ������������������ ��� �������� ,����������	��'�� #��	�� ����
����
��� 	�� *�����������&��������  �>48 �>6  � ���������	��$ 2� ��&���� B$3$4 #���
	� �������� 	��� 	�� 
�
#��������� 	�� ��� ����������	������ *�����������&��������
���������	���� ,���������� ������ ���	$ ��� ��������� *��
�� 	�� 2����������� ��� 	��

������	��� 	����� *�������� #��	�� ��� 	�� (�������������� 4;4;4 ������������ #��
����� %����	��'������������� ��� ����
���� 4;4;4 ����&�����$ �������� #��	� 	�� 0��
�����������������	���� ��	 	���� 	�� *������	��'�$

/(�(	 ������������ ��% *��0���

/��������'��������'���'�&����� 
�
������ ��� �����-������ 	����� *�������� ����
��� ������ �������$ +������������� ������� /�������	����'�������� ��	 )��������
��������'��������'���'�& ������� 	��� 	�� *�������� ����&� ���	$ ��� ���'�� 	��
���	������ ������������������ ��� �������� ,����������	��'�� �%����	��'�����������
��� 4;4;4" �������� ����&������	 	�� �������������	���� �#������ 3�8�� ��	 8�?��$

��� *�������� ���	 ������ �������� ���������� ��	 ��
��� ��
 	�� *���������$

/(�(� 
�����!������ ��% ��
������

C�� ������� �� 	�� �����������	 ������������� ������������� �� ���	������ �������
������������ �%����	��'������������� 4 ; 4�4 ; 6�!" ������ 	�� ������ ��� ,��������
	�� *������	��'� ���� 
��� 	�� *�������� 	�� ���	������ ������������������ ��� �����
���� ,����������	��'�� �%����	��'������������� 4;4;4" ��$ ��� ������ 	�� *��������
�������� �#������ 3!  �� � 8 ��	 8B  �� � 8$ ����� ��� �� ��������� 	��� 	��
,��	�������
��>*������	��'�������������� ��� 	�� 	������ *������ ���  �6? ������ #������	
�� ��� 	�� 	��'���� *������  �46 ��������$ ����� 	�� ,��-��� 	�� ������������������
��� ��� ����� ������ ��� ��$ 4?8 �� � 8 #��	 	�� C��� 
��� 	�� *������������ ��������
�������� ��� �� ������������ ���K 	����� ,��-��� 	�� *������������� ��� ��� 	�� 	��������
*�������� ����I��$ ��� ���I�� 	��� 	�� *��������� 	�� *������������ ����� �� �9���� ����
#�� 	���� ����#���� �� 	���������$

��� ����������� ,�����&�������� ������� ������
����� ��� �3�40�� ��
 �3�?0��

��� *������	��'�� ��� 3�8�� ��� 6�!�� ��� ��� ����� #������� ,�������� 	�� ���'�
��
 8�?�� ������ ��� ��� ��
 �4�?0�� ��$ :��� 	���� ���������������� ��� 	�� ����
�&����� 6  ��,��������� �#�� �� 	��'����� @�	��� ���	 	�� ���'�� 	�� ,����������
@�#���� ������ ���I$ ����� 	�� ���I� ������� 	�� ,���������� ��� �� ��������� 	���
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����	��� B$4B; ������ ��	 ,�����&������ ���	������ ������������������ ��� ��������
,����������	��'�� �%����	��'������������� 4;4;4" �� 
��������'��� ��� 	�� *������	��'��
)����� A� *�����������&��������  �>48 �>6  �

���� *&�������� �������� #�� �� 
����	��� B$< 
��� ���� 2������������ 	�&�������
*�������� �� ����� ���$ ,�������� '��� ����� ��������� 	�� ���������� ,��������� ���
*&������������ �����.�	�� ��	 ����������� '������ *&�������� 	���� 	�� ���	�� ���
	���� ,����������� 	�� ����
���� 	��' ��	 	���� ������� �&���������� ���	� ��������
#��	��$

���������%���"���� ���� ��� ����������� ��� ���%�������

+� 
�
������� ����� 	�� ���������� 	�� *&�������� �� 	�� ��������� %���� ��� ����
	������ *�������� �� ��������� #��	�� 	�� *&��������������	� ��� *�������� ��� ���
��������	������ %���������� ��������$ 5��� 	�� 
������	��� 	�� ��������� %����
#��	� @�#���� 	�� �������������&������ ������������ �� 	��� ������ 	�� ���������
*��	��� 	�� ��������������������� ������	�� #����$ 2� )������ B$? ���	 	�� ���������
�����	����� 
��� 	�� ,���������� ��	 	�� ������������ ,��������� 	�� ,�����&��������
���������� ����������
����$

���������� ��� 	�� ,�����&�������� 	�� *�������� 	����� ������������� �� :�����
�� ����� ����� 	��� �#������ 	�� ������ %��� ��	 	�� *������ ��� �#�� ,����������
���� *��������� 	�� ,�����&������ ��
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���� ���
	�� '��&������ *������ ��� 	��� ,���������� @�	��� ��� ���� ���� #������ *���������
��� ��$ 6 7$ ��� *��������� �� ������� *������ ��� ���� ������� ��#��� 	��� 	�� ���
��������� ,�����&�������� ����
���� 6  ��,��������� ��
�������� #��	$
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)������ B$?; ��������&�������� ��	 ,��������� 	�� �������� ��� ����������� 	��
,�����&�������� ���	������ ������������������ ��� �������� ,����������	��'�� �%��
���	��'������������� 4;4;4" �� ��������	���� *��	��� 	�� *�������������	���� )�����
A� *�����������&��������  �>48 �>6  �

,�� ��������� 	�� C���� 	����� ,�����&�������� ��� ,���������������� ��� ����
��������	�� ��������� ��� &������������� 	� 	�� 
�
#�������� 	�� ������������� ���
	�� %����	��'������������� 4;4;4 
��� 	�&&��� �� ���� #�� �� 	����� ��������� #��$
���#������� ���	 	�� *�������� ����������	���� 	��'� 	�� ,��-��� 	�� *������	��'� ��

	�� ,�����&������ #��	� ������� �� ��&���� B$4$3 ��
 *���� 8 �����������$

��� '�������� %��� 	�� ��������� 	�� ������������������ ��� �������� ,��������
���	��'�� �%����	��'������������� 4;4;4" ��� ��� 645 ��� 6?5 ���������	 '�������
��	 ����� ��� 	�� *������	��'� ���������� ���$ 
��$ B$4=$ ��� C��� ����� �#������ 	��
��� ��������� ,���������������� ��� 4  � ��	 3  � ���������	���� *��������$ J��
	��� #��	 ��� 	�� ���	������ ������������������ 	����� ������������� �%����	��'���
����������� 4;4;4" ��� �������� *������	��'� ���� ������� ������ ��������$

��� 	�� *�������� 	����� ������������� #��	�� �9��&������� �#�� ������ ��

��� �������������� ��������� ����������$ ��� /���#���� ����� 4  A�B ���	 ���  �44
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�����	�� ��� )����� ��� 	�� �������� (�������������� #�� 	�� ����&������	� ����
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�� �� 	�� E���-����� ��
 0���	 	�� 0��	������ 	�� ������������� 	�� �����������
���� ���� ���� ��
���� 	�� ������������ ����������������$ :��� *�������� ��� �����

����� �� )���� #��	�� �����	���� ��������� ��9����#���� ��� 	�� 	�� ������������
��� �����	������ ,���������������� 
��� 	�� ������ ��������$ �� 	�� 
����� �� )���� ��
	�� *����������-����� ��
 0���	 	�� ����� ����'������� 0��	������ ���� �������
	�� ���� �����-���� 	����� 
����� 	�� ������ ����&������	 �� /������� 	�� ���������
,���������������� ��� �������� 
������� �� )����� ���� �� ���	������� ������#�����$
��� ���	������ ,���������������� ��� *������������	��������� ��������� �������� ����
������� #�� 	�� ��� 	�� ����&������	�� )����� ���������	���� ��������� ,��������
���������$

:��� ���	����� *�������� ��� ����� (�������� �� *������� #��	 	�� '�������� %���
	�� ��������� 	������� �������� 	� 	�� ,�����&�������� 	������� ��	������ #��	��$
:��� ������������������� ��� �������� 
����� �� *������� ����� 	�� '�������� %���
	�� ��������� ���	������ *�������� ���������� �����	������ *�������� @�	��� ������ ��$
��� 	����� ���	������ *�������� '��� ���� 	�� ��#�� ������� ,�����&������ �� E����
-����������� ��
 0���	 	�� �������� ����������'������������ ������� ��
 	�� '��������
%��� ���#��'��$ ����� 	�� ����������� ��� 0��	������ 	�� ���������� (��������
������� ��	 	�� 0��	������ �� 
�
��� ��	 ,��������
��� '��� @�	��� 	�� '��������
%��� 	�� ��������� 
��� *�������� ��� �������� (�������� �� *������������	 ��	�����	
���������� #��	�� ��	 ��� 
��� 	����� ���	����� *�������� ��9����� ���$ 
�� <$<$ �+���
	�� ,��-��� 	�� 0��	������ �� 
�
��� ��	 ,��������
��� #��	� ������� �� ��&��
��� <$B 	��'������$ ��� '�������� %��� 	�� ��������� '��� 	���� 	�� 0��	������ 	��
���������� (�������������� ��� ������������������� ��� �������� 
����� �� )��
��� ������
����� ������� #��	��$ :��� *�������� 	����� *1����� ��� ����� (�������� ���
	���� 0��	������ 	������ ���� ���	����� 	�� '��������� %��� 	�� ��������� ��� :����$
����� *�������� ���	 ����� �� 	�� %���� 	�� 	���� 	�� ���� ����������'������������
�� 	�� E���-����� ��	�������� ,�����&�������� ���������� 	���� ���'� 	�� ����� 	��
����������� ��
���������� '�������� %��� 	�� ���������$

��� *��������� 	�� ,�����&�������� ��� 	�� 2����������� ��
���� 
��� ���	�����
������������������� ��� '��������������� 0��	������ 	�� ���������� (�����������
���� ��� 
������� �� )���� ��#�� �����'�� ��� 
��� �����	����� *�������� 	����� *1�
�����$ ��� ���	������ ,���������������� ��� ����� (�������� ��� *������������	 ���	
	�� ,�����&�������� ������ ��� 	�� 	�� �����	������ *��������$ �� 	�� 0��	������
	�� ���������� (�������������� ���� ,�������� 	�� 
������ �� ���������� ��	 	��
	���� �����������	�� ,�����&�������� ��� :���� ���� #��	�� 	���� ����
���� 	��



3 3 �� ���� � &� ��������������
� 
���������

�����������	�� ,�����&�������� �������$
��� /���#���� 	�� ���	������ *�������� ��� '��������������� 0��	������ 	�� ����

������� (�������������� ��������� ���� �������� #�� 	�� 	�� �����	������ *��������
��	 ����������	�� ���� �� ����� C����� ����� #��������� ��� 	���� 	�� �����	 	�� 2��
���������� �������������� �����	������ *��������$ 2� 0�������� �� 	�� �����	������
*�������� ��� ����� *������������� #����� 	�� ���	������ ,���������������� 	�����
*1����� ��#�� ������� /���#���� ���  �44 ��� ��  � ! ��
$ ��� *�������'������������
�� ����� E���-����� �������� #���� 	�� 0��	������ ?��7$ 
�
 0���	 	����� C����� ���	
	�� /���#���� ��� 	��@������ 	�� *�������� ��� ���	����� *������������� ������������$

*�) �������
�� ��� ��������
 	�� ��� ��
����	��

#����
���������	��

��� C���� 
��� ������� ,D���	�� ��	 ,�����&������ (	�� 	�� ������������� ��� ,������
�����	��'����������� ��� ������������������� ��� �������� (�������� ��� )���������	
'������ ��������� #��	��$ ���� #��	�� 	�� ����&������	�� C���� 
��� 	�� ���������
,���������������� �	�� ��#� 	�� ������� ���'� ��������" (� ����&������	 ����� ,������
�����	��'� 
� �� ����������� ��� 0������������	��'� 
��� ��#������� #�� �� :����� <$<
���������$ ��� �+�������������� ��� ���� ���� ����� 
����	����� =$44� =$43 ��	 =$4B
��
 *$ =8�$

(	�� O
������
��
�

(�

�

���

�<$<"

��� +����������� 	�� *&��������������	� ��� ������ ������������������� ����

������	��� 	�� ,���������� #��	� �� ��&���� B$6$3 ��
 *���� 8= �����������$ ��� ���
��������� C����� ���$ )��$ B$?� ���	�� 	�� 0���	����� 
��� 
�����	� ������������� 	��
,�����&�������� ���	������ �������������������$

��� �� 	����� )������ ������������ C��� 
��� 	�� ,�����&������ 	�� ���� 2�����
�������� ���������	���� *������ ������ ��� 	�� ,�����&������ 	�� ����&������	��
��������� ,��������������� 	�� �� ��&���� B$4$4� 
��$ B$= ����������� #��	�� ��������$
��� ,�����&������ 	�� ��������� ,��������������� 	�� ��� 48 � 	�&������ #��	��
������ ���� ��� 
����	��� B$= ��
 *���� ?! ��������� ��	 �������� ��$ �4�!0��$ ��� 
������
	�� ������������ ��
����� ����� 	�� �������������� 	��� 	�� ,�����&�������#����
�� ����&������	 ����� *������	��'��������� 
��
��� �� 	�� �����������	� ,�����&������
�	�� ���� :����� <$4 ��������$

�	�� O
���

��
��
�

��

�

���

�<$4 "

0��� ��� 	���� ���� 	��� 	�� ,�����&�������� �� ���	�� ������ 	��'�� ,����������
	�� *��������� 	�� ���  � ��#$ 48 � 	�&������ #��	��� 	�� ,�����&�������� ��



&��� 
��������	 
� ��	���������� �� ������	����������� 3 6

,���������������� ����&������� �� ������ ���� ���� �����������	� ,�����&������ 
���
	�� ������������ ���  � ��	 ��������I��	 ��� 48 � ���

�
����
� O
�� 	 8 H 4	 !" � 4	 4

3	 3
0�� O �4	 480��)

����� ���������� *&������ ��� @�	��� 6 7 �������� ��� 	�� ��������� ,�����&���
���� ��� �4�80��$

+���� 	�� �������������� 	��� 	�� ,�����&�������� &��&�������� �� 	�� ������
���	� ������ 	�� ,�����&������ ����� ��� 6  � 	�&�������� *������ ���� *������������
����
���� ���� 
����	��� B$=� ��� ��$ �6�80�� ������$

�
����
���

� O �� 	 8 H 4	 ! H 6	 8" � 4	 4
6	 6

0�� O �4	 <0��

��� 	���� ���������� C��� 
��� 	�� ��� 	�� 	��� *�����������&����������
�� ���
�������	��� ���������������� ������ �� 	����� :��� ���� ��� ��� 	�� �9&����������
����������� C��� ��������$

,��� ��	��� ��������'��� 	�� ����������� �� 	�� ,�����&�������#������ ������
���	 ��� 	�� �9&���������� ����������� C����� 	����� ������������� ���� 	�� )������
������������� ���$ )��$ B$?� ������ 
�����	� ,�����&�������� 
��� 	�� ��� 48 � ��#$
	�� ��� 6  � ���������	���� ,���������� ���� :����� <$4 ;

�4	 8 B0�� O
� 	 8=8 � 4	 4 H ���
� � 4	 4

3	 3
0��

� ���
� O �3	 ?6=0��

�4	 < !0�� O
� 	 8=8 � 4	 4� 3	 ?6= � 4	 4 H ��

� � 4	 4

6	 6
0��

� ��

� O �3	 =430��

��� 
�#��������� �� 	�� ��� 
����	��� B$= �����&�������� C����� �������� 687
��#$ 367$ 0���	 
��� 	���� 
�#��������� '������ ����� 	��� 	�� ��������� ,��������
��������� ��
 *������� 	���'� ���������	�� #��	��� #��������� ��� 	�� �� 	����� ����
���������� ������������ *�������� ��� 	��  ��,��������� ��
 *������� ��
��#������ ���
��	 	�� 
�����	�� ,���������� @�#���� ��
 ������������������� 	�&������ #��	��$ ����
�� ,�����&�������� ���������� ������� 	�� ,��-��� 	�� 0����-������ �#������ 	��
��� ����������	������ 2������������ ���������	���� ,����������� 	� 	�� ���������
@�#���� �� ��������	���� *��	��� 	�� 
������	��� ���	������ *�������� 	������
�����
#��	��� ���$ )��$ B$?$ 2� 	�� ��������� ,���������������� ���	 '���� 0����-������
��� 0�������� �� 	�� ���	������ *�������� 	����� �������������� 	�� 	�� ,�����&���
������ 	���� 2��������������� �����-����� '������$



3 ? �� ���� � &� ��������������
� 
���������

��������	��������
 ��#������ ��
�����	�

%���������� 9#�� ������	����� %������������ %������������ )���������

<$ /A<$ @<<$ ## "'� "'� J

>< >< @< @:> -/:A<I -/:A>< S/<

>< >< >< G:< -/:M/> -/:IAM SM

>< >< I< G:A -E:<II -E:/FM SG

)������ <$B; ��������&��������� ��������� ,�����&�������� 	�� �����������������
���� ���������� ,�����&�������� ��	 
�#������� 	����� C���� ��� 	�� ����������
C����� 	�� ,�����&�������� ���	������ ������������������ ��� ��������	���� ���'��
	�� �������� ,��������� �%����	��'��������������� 4 ; 4 ;  �8 �$ 4 ; 4 ; 4 �$ 4 ; 4 ; 4�8"
� *�����������&��������  �>48 �>6  �

�� 
��� ����� ������������������� ���� ���� 
����� ����������	������ 0��	������
���������� #��	� ��	 	���� ����&������	 ����� ����� ��� ���
������ ������� ������
���� ���� ���� �������� +����������� 	�� ��������'����� ��� ���������� 	�� ���������
���	�� ,�����&�������� ���	������ *�������� ��$


�� ����&��� ���	 	�� ������������ ��� ,�����&������ 	�� ������ �����������
��������� ��� ��������	���� ���'�� 	�� �������� ,��������� �� :�����	�� 	����������$
��� C���� 
��� 	�� ,�����&������ #��	�� ����&������	 	�� ,����������	��'�����������
����� ���� :����� <$4 ���������$ �+�������� ��� 	�� �� ��&���� B$6$3� )��$ B$? ���
��������� ��	 ����������� ,�����&�������#���� ��	 ��������� 	����� 	�� ,�����&���
���� 	�� *�������� 	����� �������������� �� ������� ��� 
�#��������� ���������� 	��
���������� C����� ��� #������ ��� 4 7 ��	 	���� ���� ���� ���� �+��������������$
2� )������ <$B ���	 	���� ���������� ��	 	�� ����������� C���� ������������������ ��	
	�� @�#������ 
�#������� 	�� ����������� C����� ��� ���������� C��� ���������$

���������� #��	�� ������I���� ���� ���	������ *��������� 
��� 	�� 	�� ,�����������
	��'�� ��	 ,�����&�������� ��'���� ���	$ ��� 	���������������� 
�#������� 	��
����������� C����� 
��� 	�� ,�����&�������� ��� �9&���������� ����������� C��� ���
������ 
��� 	�� ������������ *�������� ��� ����������	������ 0��	�������� 4?7$

��� ���������� 	�� �����������	�� ,�����&�������� ���� 	�� �������� 
�����
	�� �� :����� <$4 �����	����'� #��	� ������ ���������� ��� ��� 	�� �9&����������
��� C����� ��������$ ����� ��� 	�� �������� 
�#������� 	�� ����������� C���� ���
	�� ���	�� ������������� ���
����� ��� ,��������� 	�� ,�����&�������� 	�� ,���
�������� �����������$ ��� ������ 	�� *������ ��� 	��� 	�� ,��-��� 	�� 0����-������
�#������ 	�� ��������� )������������ ���� ������ ���� ��#$ 	�� ������� �� 	�� �$�$
*&��������������������� #��'��� ���� '���� ���$



3 8


��� !

.��������������



3 B



3 =

������� �/

.�������������� ��� ��������

������� ��������������������� ��� ������ ����������������� ��	 )������ ��� )�����
�����	� ��#$ *������������	��������� #��	�� ������������������� ����� �������������
�������� ��� 
��������� ���������	��$ ����� *�������� #��	�� ������������ (�����
����������� 0�
����� ���	������������������ ������� ���'�� ������� ,�����&������� '���
������ %��� 	�� ��������� ��	 ����� ���������I���������� ����� 4  A�B ��� ����'����
0����������� ����������$ *�#��� �������� ,���������������� ��� 	�� 	��� *1������
��� ������ ���������� ��	 ��� (�������� ��� )���� ��#$ *������� ��� ���� ���	����
�� ������������������ #��	�� ����������� ��	 �����'���������$ ����� 0��	������ ��

�
��� ��	 ,��������
��� ��
����� 	���� ���
��
�������� 
������ 	�� �������������
2����������� #������	 	�� ������������$ C�������� #��	�� *�������� ��� '�������
��������� 0��	������ 	�� ���������� (��������������� ��������	 ��� @�#���� �#��
����������	������ ��������������� 	�� (������� )���� ��#$ *�������� ���������	�� ��	
����������$ (���������� #��	� 	�� ����������� 	�� 0��	������ 	�� ���������� (�����
���������� ��� 	�� 0��	������ �� 
�
��� ��	 ,��������
��� '��������� ��	 	����
���	������ *�������� ����
���� �����'���������$

��� ���������	���� ������ ������������������� #���� ����&�� 	�� 5���#��' 	��

���� ������	 ���&���������� ��� ���������	���� ����������������� @�	��� #���
	�� ���� �� *�������� ��� ���������� ������ �4�! �>���" ��� 0��&��� ������� ����
���	����� ����������$ ,���&������	 #�� 	�� ���������� ������ 	����� *�������� ���
��$ 4?  �� � 8 ������� ������ ��� 
��� 0��&���$ ����� ������ ����� 	��� 	�� *���������
	�� ������� 	�� ����0������� ��	 	�� ,�����&�������� ��� 	�� ,�������� 	�� 2�����
������� ��� 	�� ������������� ��	 )������� ��� *��&������������	���� �$ ��&$ 3
��
 *$ =� ���������������$ ��� ����� 2������������ ���������	��� �������� ,���
�������������� ��� ������ ����������� 	�� ���� 	����� )������� ��&������ ���� �����
���� 	������������ ��� 	�� ��������������������$ 
����	 	�� ������������� ���	������
������������������� '����� ������� #��	��� 	��� 	���� 	�� 0��	������ �� 
�
��� ��	
,��������
��� 	���� ��
�����&���������' �� ������ ���; 	���� 	���� 0��	������ #�� ��
��������� 	��'� �<�6��" ��	 ��� ��
���	� ����� ������������������� �'�������� %���
	�� ���������; 645" ��� �9���� �������� ,�����&�������� �� �=0��" ��	 ����� ����
����� ������ �86  �� � 8" ���������	��$



3 ! � ���� � �'� ��������������	 ��
 ���
����

2� 	����� 
����� '����� #�������� ������� #��	��� 	��� 	�� *��������� 	�� ��
����
������ ������������������� ��#��� 	���� (������� ��� )���� ��#$ *������� ��� ����
	���� 	�� 0��	������ 	�� ���������� (�������������� �������� ���$ ��� ��������
���� 	�� 0��	������ �� 
�
��� ��	 ,��������
��� ��� ����� 0��	������ 	�� ����
������� (�������������� 
������ �� *1���� ����������>*������������	 �� ������
�4<  �� � 8" ��	 ���� ��� ��
���	�� *�������� �'�������� %��� 	�� ���������; 3<5"
����� ��� �������� *������	��'�� �* 6�8��"$ ��� �9����� ������ ���	������ �������
������������� ���� (����� '����� ����� �������� #��	��$ ���� #���� �����	���� ���������
#��� ���� �&�������� 
������	��� ��� �� ������ ������������������� �� 	�� *������
�����-����� 
������$

��� ���������	���� ������������������� ��� ����� *������������� ������� �9����
���	���� /���#���� ��� �������������� 0����������� ����� 4  A�B$ 2�� ������� ���
���  � 8 ��	 #��	� ��#��� ��� ��������� ,���������������� ��� ���� ��� ���	������
*�������� ��������$ ��� ���������I ��#��� ��� *������ ��� ���� ��� 0����'���&�� #��
	���� ���� ������$ ��� ������������ ������������������� ��� (�������� ��� )����
���������� ���� ��������� C���� 
��� 	�� �������������� ���������I� ������� @�	���
������� /���#���� ���  � = ��� �����  �3 ����� 4  A�B$

��� ,������������� 
��� *�������� ��� �������� /������� ����� ��
���� ��	 �����
������ ������ �$�$ �� ������� ��� C��'������� ����������� ��	 ���������&�������
:���������$ *�������� ��� �������� /������� ����� ������ ���� ���������� ��
����
������ ���� ��� ,������ ��� #������ ����' �����&������� ��������� ��	 
�#��	���
���$ �� ������������������� ���� ���� ���� ���'��&����������� ��
#����� ��� ���� ���
,������ 	�� *�������� �� ������� ��� 2�&�������� ��������$

����� #������ +������������� ��� A����'����������� 	�� 
������	���	��������
'������ 	�� (������������� �#������ 	�� ,��������
��� 	�� ���������	���� *������
���� #�� �$�$ ������ ��	 ,�����&�������� ��	 	�� ��� 	�� ������������ �����
��	��
�������� ������ �������	�� ��	 ��������� �����-���� #��	��$ ��� ��������'��� �����
�� ���� ,�����&�������������� '������ ������������ 2�
���������� ����� 	�� ���������
	�� ,�����&������ #������	 	�� *������#�������� ����������	���� ���	������ *������
��� ���
��� ��	 	���� ��� ��������	��� 	�� *���������������� #��������� ���������$
2� 	�� ���������	�� 
����� #��	� �������� 	��� 	�� 0��	�������� ���I�� ,��-��� ��

	�� *���������������
��� ����� ��	 	��� 	���� 	�� ����������	������ 0��	��������
�����.'���� �������������� 	�� *���������������
��� �� ��������� ���	$ ��� ���
� ���
��� �������� 
������� #��	�� ���
���� ������������ �� 	�� ,��������
��� ���	������
������������������ 	������
������ 	�� ���� ,��������� �������$ ��� C��������#��'����
	����� 
������� ��� ���������� 	�� ,��������
��� ���	������ *�������� ��� ���������
���� ��	 ���������� 	�� ,��������
��� ���� ��� *�������� ��� 0��	������ 	�� ����
������� (�������������� ��� ���������� ��� ���I�� 2��������$



�������������������� 3 <

0���	���	��	
�������

F
��!BG ������ J$A$; ,�&������ �������������� ��	 ������ �
 U������	���'�U
A����� .���$ 2�; ���� ����� ���	
 4?3 �4<!B"� *$ 4?8V484

F
��<3G ������ J$A$; ������	 ��	 	�����	���'� .���$ 2�; ���� ����� ���	
 34B
�4<<3"� *$ 43BV466

F
/<3G ������� �$ K 	
���� :$; 2�� ���� �������	 ���#�� �
 	���� 	�����	���'�
������$ 2�; ���	��� 
��� ������ 4 �4<<3"� *$ 6 =V644

F���  G �
����� �$C$; 2�	������� 
&&��������� �
 ������	 ��	 ��5$ 2�; 	���
���� /$ �����$"; �������� �� ����	�� ���� ��������
� C���1��A� ������
0���� C�������� 3   � *$ 83=V8BB

F�A*�  G �����
��
� �$ K �

���� A$�$ K ������� A$ K �����
���� J$ K ����
�
��� /$ K ��������� �$; ,���� �
 ������ �������� �� 	�&������� ��	
&��&������ �
 ���������������� �%A �����%A" ��������$ 2�; ����� �����
�������� 43= �3   "� *$ 33?V363

F���<6G �������� �$��$; ���������� 	�� +�������������� ��	 ��	���� ����#���
�� �� 	������ *��������� ��������	��� �����������������$ 2�; ��� 3!
�4<<6"� 5�$ 8� *$ 6 ?V644

F�%*�  G �
���� A$ K ������� �$ K �������� �$ K ������� *$ K  
������ �$;
2�������� ������ ��	������ �
 ��������� �&������	 ���	�	 .��� #��� )�A
�		������$ 2�; ����	�������
�������������������
� 3   

F�%*� 3G �
���� A$ K ������� �$ K �������� �$ K ������� *$ K  
������ �$;
���������� &��&������ ��	 &��
������� �
 �����������&������	 ���	�	
	�����	���'� ������ .��� #��� ��	 #������ ����� �		������$ 2�; ���	���

��� ������ 44 �3  3"� *$ 446<V44?3

F���!!G ������� *$�$ K !�"��#��� �$/$ K !
����� �$J$; ,,%* ����1��� �

������ ����	�&�����	 	�����	���'� .���$ 2�; �����
� ���� ����� 8= �4<!!"�
5�$ B� *$ 3!8V3< 

F���
 3G �����
�� ,$ K $��
� :$J$ K %���
� 0$ K �����&
�� J$%$; ���	 ��������

�� ���������� �&&���������$ 2�;  ����	 B? �3  3"� *$ 4!4V4< 



34 ��������������������

FA:  G ��
�� �$�%$ K '���(� ,$; :����������1 ���	�	 	�����	���'� ����� ����
����� �� �������� ����������$ 2�; ������ ���� !���" # 3=! �3   "� *$
4B3V4B<

FA�� 4G ���
�
��
� �$; )���'� #�����	�����	� �����1 �������	 �������	��� �����
&���� ������$ 2�; ���	��� 
��� ������ 4 �3  4"� *$ 4 44V4 4B

FA%  G ���� :$($ K ��� �$J$; 
 �����# �
 �������������� �� ������&��������1 �

	�����	���'� ������ ��	 ������ �����	� .���$ 2�; ����� ����� ��������
464 �3   "� *$ ?!4V?!=

FA%�<<G ��
�������� A$ K �
�
��������� *$ K )
��
� �$; 5�����	�������� ��	
�������������� ���	��� �
 ����&���� ������ .���$ 2�; ���	��� 
���
������ ! �4<<<"� *$ 88!V8B3

F�
�<!G )
*��� A$
$ K �+
�
����
� 0$
$J$ K "�
����� �$�$; 0��#�� ������
���� ��	 A�����*�������� *�������� �
 )������	��� 
���&���� A�����
)��� :����$ 2�; ��$
� 
�%� ����� ! �4<<!"� 5�$ 48� *$ 63! V63!6

F���<6G )
*��� A$
$; 
 ���&�� ��	�� 
�� ��� 
�������� �
 ���&������� ������ ��
���� .��� �1 ��� ������	����$ 2�; ���� ����� ���	
 33B �4<<6"� *$ 6 V6?

F��<8G )���� J$ K ��
��� �$; �%A �������1�� �������� 
�� #��� &���������$ 2�;
���	��� 
��� ������ ? �4<<8"� *$ <6BV<?6

F��<BG )���� J$ K ��
��� �$; /���	��� ������ ��	 ��������	���� �
 �%A ����
����1�� ��������$ 2�; ���	��� 
��� ������ 8 �4<<B"� *$ ?=!V?!3

F�0�<=G )�+��+� A$ K ��
��� �$�$ K !��
��� 2$/$; 
 �������1�� �&&���� ��
���� �	������ 	�����	���'� ������ �������� �� ��������$ 2�; ���	���

��� ������ B �4<<="� *$ ! 3V! B

F���!=G )�+����� �$ K  ������� �$ K !�++���� /$; )����������� ��	 ����������
&��&������ �
 ���������������� �1	��������	 ������ .���$ 2�; #���� ��$
�
����� 8 �4<!="� 5�$ 4B� *$ 4 8BV4 8!

F�25!!G 5��� �25 2*E ?84B J��� 4<!!$ �������
��� ��� %�������� ���������&
������'������
��		��� ����  �����
 ��� (����

F�25<=G 5��� �25 8 68<�4 E'����� 4<<=$ )��%��
���'������'����� ����*+ ��'��%��&
������

F�25<!�G 5��� �25 ,5 2*E 63=? 
&��� 4<<!$ ,���-'�������
���.������+ ��
�&

������%�������� & /��������
������� %�� ��
�
���������'����

F�25<!�G 5��� �25 ,5 2*E ?3!= E'����� 4<<!$ ,���-'�������
���.������+
��
�
������%�������� & 0����������" ��1�������� ��� (�����'�2��



�������������������� 344

F�25<!�G 5��� �25 ,5 2*E ?3!! 
&��� 4<<!$ ,���-'�������
���.������+ ��
�&

������%�������� & 
����� ���  �������� �'�� ��� 0���������� ��� ,���&
-'�������
���.������

F,%�� 4G ,���*�
� J$ K �
��

� 
$ K !
�����#
� ,$ K 
+� ,-�-  
�
�� �$ �$
K 	���
�
�� �$; 
���&���� *��A��� .���; �� �9��&�� �
 ��������� &���
������� ��# ��	�������� ���	���� ��	 ���� #��� ����������$ 2�; ���	���

��� ������ 4 �3  4"� 5�$ 6�=� *$ 4 86V4 8=

F:��<3G '���
� /$; ���
�������" #�����" !����
������� ��� #��������
%�����&
��� %�� 	���
������� ��������� ��
 ��	 �$
��	 ��&��&�&/� +�����������
���������� ����$� 4<<3

F:�%%<3G '������� �$ K  �+���� 
$ K ������ J$ K �
���#� �$�$; 2�-����� �

�������	���� ��1��� ��	 ���� ��������� �� �	������ �
 ����&���� ������
��	 ������������ ��������$ 2�; ���	��� 
��� ������ 4 �4<<3"� *$ 8B6V8B<

F:/<<G '
���� J$ �����$" K 	����#� �$ �����$"; �� 
'�	�� ���	�� ��3����$
)������ 5�# M��'� *��������� 4<<<

F:*�� 3G '����
���#�	
+
�� A$ K ��
����#���
��#� J$A$ K ������ �$ K )
�����
A$ K $
��
����� %$ K '����
���#� 
$; )����������� ��������� ��	 ����
����� ���������������� �
 *��
��� ��	 *������������ ������ �����	� ��������$
2�; ���	��� 
��� ������ 44 �3  3"� *$ 4B<V4=8

F:*��<=G '����+
��� )$
$ K �����*
�� J$�$ K "�
��� J$
$ K .
��
��� �$/$
K '
����
���� �$�$; )���' �������
��� ����&������������	��� ������
.��� #��� ���	���� ���� ���� �
 	�����	$ 2�; #���� ��$
� ����� =4 �4<<="�
5�$ 3B� *$ 6!3 V6!33

F0�)�<8G ��������� �$ K �����
��
� �$ K .�
&
�� �$ K )�+����� �$;

&&����������������	 ��	�.������� �
 	�&������� &������ 
�� 	�����	���'��
�����������	 ��������$ 2�; ����� ����� �������� =?�=8 �4<<8"� *$ =6<V=?8

F0%A<!G ��
��� �$ K �
�
��������� *$ K ��
�������� A$; *����� ����9����� ��	
��������1 �� ����' ����&���� ������ .��� 	�&�����	 �� ��1�� ���������$ 2�;
#���� ��$
� ����� =6 �4<<!"� 5�$ 3� *$ 4!?V4!B

F0�<?G ��&$ ������&���� ��	 *����� �
 ������	��'� A����� 2�; ������ 
$ K
!�����
�� �$*$; �$������� ���	���+ !	������ � � ������� ��� ����&
�����$$ J��� C���1 *���� 5�# M��'� 4<<?� *$ <4V4?4

F���!=G  
����� /$
$; ,���-'�����& ��� �'���
������&�����������$ *&�������
������� 4<!= �C��'�����:�������� ��	 �)�����' 8"



343 ��������������������

F��'<BG  
�
*���
� �$; 
	������ �
 ����&���� 	�����	���'� .�� �� �&������	
���	����� �CA�A�" ������� �����$ 2�; ���	��� 
��� ������ 8 �4<<B"� *$
4!BV4!<

F��<BG  ���+
��� A$ K )������ �$; ���������� C��'����'���#����
�����������$ 2�; ����������'����� 6! �4<<B"� 5�$ <� *$ 6=?V6=!

F���<4G  ��������� 
$ �����$"; �����	�������$ *&�������������� ������� ����
	������� 5�# M��'� 4<<4

F��E�<<G  
�
�� ,$�$ K  ���� �$ K/*���
� A$ K 	���
�
� �$,$ K �� ����
�
��
�$
$/$; 0��#�� �
 ����&���� *��A��� ���� .��� ����� � ��������������
���� �����1 ��� ����$ 2�; ����� ����� �������� 433 �4<<<"� *$ 84V88

F���!BG  
������ �$; ��������'����� ��	 0������ ����� ��������� *������#���

��� ���������I
���� �����������������$ 2�; 4� 5���
��.����� 4= �4<!B"� *$
66?V6?4

F���!<G  
������ �$; 5��� ,��#��'������ ��� ��������������������������$
2�; ������ ?6 �4<!<"� 5�$ =� *$ B4?VB3?

F���<4G  
������ �$; ��������� �	�����	 �������� 
�� #��� &���������$ 2�; �����
!��� = �4<<4"� 5�$ 3� *$ 46=V4??

F2��<8G 0�����
��
�
� ������ �
� )����
���
� )
�
 �����$"; ������
��.������� ����$ �����1������� +*
� 4<<8

F��  �G "�
���� A$��$ K �����
��
� �$; ������	���'� A����� :�����
	������
�
 �%A :����$ 2�; 	������ /$ �����$"; �������� �� ����	�� ���� ��&
������
� C���1��A� ������ 0���� C�������� 3   � *$ B? VB?3

F��  �G "�
���� A$��$ K �����
��
� �$; ������	���'� A����� :�����
�1	��������	 
���&���� A����� ���A;�"$ 2�; 	������ /$ �����$";
�������� �� ����	�� ���� ��������
� C���1��A� ������ 0���� C����
����� 3   � *$ B36VB3=

F�,�J<4G "�
���� E$ K ,������ /$ K "��
+��� 0$ K 1�������� :$; E� ��� ������
�
 ���&������� ������ �� ��� �������� � �� �9&�������� ��	��$ 2�; �����
����� �������� ?B �4<<4"� *$ 3B8V3=?

F���2B G "
���
��� J$ K"
�
�
� �$ K  
�
�
� )$ K 0�
� )$; ,������� ����������
*��	1 �
 ,��&�����	 A����� :����$ 2�; #��� ��$
�� 46 �4<B "� *$ 4=4V4=<

F�**<BG "�
����� �$ K ����������� �$ K �������� �$�J$; (������������� �#��
����� �������������� ��������� ��	 ������������ ,��������
��� ��� ����
��� ����&��� �������������������$ 2�; 2�+ �
��� �$��$ �����$"; 
��&
���� ���  ��
�����

+  ������
��3�� ��� ������" 0�� /�����	" 6*� ���



�������������������� 346

66� �'��7 *889� �0� 2�
�������������������
� ������� E��������� 4<<B� *$
4?4V4?B

F�C��<6G "������ /$ K ������� �$ K "������� 
$ K �
����� *$ K "��#� 0$ K
1���� �$ K ,��
���� �$; 2�-����� �
 ��� �����1 ��	 -�9 ���&�������
�� ��� &��&������ �
 &������	�&�����	 ����&���� ������ ��	 ����&����
�1	��������	 ������ .��$ 2�; ���	��� 
��� ������ 3 �4<<6"� *$ 3?BV38 

F�MA�  G "�+� J$0$ K 3�� J�� K ��
� �$�$ K �
��� M$J$; A���������� �
 ���������
������ �1 ����& 	�
�������� �
 �� *� ��������� �� �������� ��&�� 	�&�����	
	�����	 .���$ 2�; ���	��� 
��� ������ < �3   "� *$ B4VBB

F%
:<=G �
��
��
� 5$,$ K ��
�
�
*� /$/$ K '
��
�
� /$�$; 
� �������������
�
 ��� &��&������ �
 )��A;� .���$ 2�; ����� ����� �������� <?�<8 �4<<="�
*$ B83VB8=

F%�*� 4G ������� �$ K �
���� A�$ K ����� �$ K �������� �$ K ������� *$ K  
��
����� �$; 0��	�	 ��A�5���������$ 2�; �:�;6<<* ����������
+ 46�� �����&
�������� �����=���	 �� ���
	� �����

�
� 3  4� *$ <=V<<

F%0�A<<G �
�
��������� *$ K��
��� �$ K $
��
�
�� �$ K ��
�������� A$; 2�������
�� ��� 	�&������� ��������� �
 �&������	 ����&���� ������ .���$ 2�;
������ 6= �4<<<"� *$ =B8V<B<

F%�<!G ���� A��� /$ K "�
� A���� )$; ���� �	������ ��	 L�����1 	�����	 .���
�� ����� ���������$ 2�; ���	��� 
��� ������ = �4<<!"� *$ < 6V< =

F%�/,< G �������#� M$ K "
��� *$/$ K 	
�
�
��� J$C$ K ,�������� C$; *��&����
������ ��	�� 
�� .�� ���#�� 
��� �1&��������� �&�����$ 2�; ��$
� 
�%�
0 ?4 �4<< "� 5�$ 48� *$ 4 ?B!V4 ?! 

F%%0<?G �������#� M$ K ��+����� 0$�$ K ��
��+
��� ,$; *������������� �

*��&��������� ��	�� 
�� ������	��'� :��� 0��#�� �1 
����� :���� ���
������&1$ 2�; ��$
� 
�%� ����� =3 �4<<?"� 5�$ 4=� *$ 3=86V3=8B

F%**�<<G ������� �$ K �������� �$ K ������� �$ K  
������ �$; ���������������
���������������� �
 )�A�)�5 ���	���� �������� 	�&�����	 �1 ������������
��������� �&��������$ 2�; ��������
 ������� ����	 6 !�644 �4<<<"� *$
?B=V?=8

F�0/!?G !������� /$ K ����� 
$�$ K 	
�� /$
$; /�����	 ��������� ���� ��	�� 
��
���� .�� &�1����� ���������$ 2�; >�  ��� �������� # 3 �4<!?"� 5�$ 3� *$
8  V8 6

F���<4G !�"��#��� �$/$ K !������ �$ K $
����
���� �$
$; A��&��������
*������2�	���	 :�������� �
 )����:��� )������	��� 
���&���� A�����$
2�; ��$� 
�%� ����� B= �4<<4"� 5�$ B=� *$ ==6V==B



34? ��������������������

F����<BG !
���� 5$
$ K !�"��#��� �$/$ K $
����
���� �$
$ K ����
��
���
�$ K $
�������
� �$; ��������&�� *�������� �
 )������	��� 
���&����
A�����$ 2�; ��$
� 
�%� ����� =B �4<<B"� 5�$ 8� *$ =B!V==4

F��<=G !
������ ,$ K $
���
�� M$; ���������� �
 ��������� ������ ����������
�� ����&���� ������ ���� .��� &��&���	 �1 ��������� �&��������$ 2�;
���	��� 
��� ������ B �4<<="� *$ 44!3V44<4

F����!BG !������� �$��$; ��	������ 2���
������	 ��&������� �
 A�E� :����$ 2�;
#���� ��$
� # ? �4<!B"� *$ 3 <V346

FE�<3G /��*��� C$A$ K $�
��� 0$�$; 
� ��&����	 ������L�� 
�� 	����������
���	���� ��	 ������� ��	���� ����� ���	 ��	 	��&�������� ������� ��	���
������ �9&��������$ 2�; >� ������ 
�
� = �4<<3"� 5�$ B� *$ 48B?V48!6

FE*<?G /�
������
� 
$
$ K ��
����
�� %$/$; /��� �
 �������������� �� 
���
���� ���� ������ .�� &��&������$ 2�; ���	��� 
��� ������ 6 �4<<?"� *$
4463V446B

F���8?G $
��
��� %$0$; *��
��� *��	��� �
 *���	� �1 )���� /�-������ �
 N�/�1�$
2�; ��$
� 
�%� <8 �4<8?"� 5�$ 3� *$ 68<V6B<

F���<6G $����
�� �$E$; �������� �� ������" ��������" ���	��� ��� ���������
+
���������
" �����

��� ��� #����������
$ 5�1�� ������������� 5�# M���1�
+*
� 4<<6

F��A<<G $������ C$ K $
������&�
� �$ K �#�#�������� 
$; *�������� ��	
������������ &��&������ �
 ������ ��	 ������ �����	� .���� �������	 �1
��� 
/A �����	$ 2�;  ����	 86 �4<<<"� *$ 4 <V443

F�*<<G ��&$ ���'��&����������� ��� A������������������� ��
 )���������������
2�; $�
���� �$ �����$" K ��
���
���� �$ �����$"; 0��� : �$	��
��	
?+ 5���
��.� �'�� ��� ����7���������$ C���1��A� ������ 0���� 4<<<� *$
44V48

F�(%� 3G $
�
�
���
����
�� �$ K 2�

� J$:$ K ��+
���� �$ K!���
+�� ,$)$ K
!��
������� J$
$; )�� ������ �
 *� �����&������� �� ��� �������������
��� ��	 �������������� &��&������ �
 �%A ���� .���$ 2�; ���	��� 
���
������ 44 �3  3"� *$ 4 =?V4 ! 

F/�*� 4G 	���
�
� �$ K ����
� /$*$ K �
+
#
� 
$ K )���� C$ K "
��
�#� 0$�$
K 
- 2���
 K  
�
�� ,$�$ K  ���� �$; �������� ���	1 �
 	�
���� �� ��
*��A��� .��� &��	���	 �1 ��� ���� 	�&������� �����	$ 2�; #���� �����
���� 4== �3  4"� *$ <BV4 3



�������������������� 348

F/AA�  G 	���
� ,$ K �
+��� :$ K ���*����� J$ K ���+�������� :$ K )��
��
��
*$ K �
���
���� �$; *��������� &��&������ ��	 ���
��� ���&�����1 �

������	�&�����	 ����&���� ������ ��	 ������ �����	� .���$ 2�; �����
����� �������� 438 �3   "� *$ 43?V43!

F/��<6G 	
�����
�� J$; ��&������� ���������� 
�� &�������� �&� ���	��� ��
	�����	���'� ������$ 2�; ���	��� 
��� ������ 3 �4<<6"� *$ <!?V<!<

F/��<?G 	
�����
�� J$; )�� 	�&������� ��������� �
 	�����	���'� ��A ��	 ��
A;�$ 2�; ���	��� 
��� ������ 6 �4<<?"� *$ 6B4V6B!

F/�<3G 	
����� �$ K %������ J$; ���
	�&0�
���������
& �������� ���
����
��.&���������$ ��������� ������ 
��� 0���	���Æ�	������� %��&����
4<<3

F*%+� 3G �������� �$ K ������� �$ K ������� *$ K  
������ �$ K ������� �$; ���
������������ ��	 &��&������ �
 ��# 
������� )�A�A �������&����� ��������
	�&�����	 �1 ��������� �&��������$ 2�; ����� ����� �������� 48 �3  3"�
*$ 34!V33B

F**0�<BG ����������� �$ K �������� �$�J$ K ��
����+�� 0$ K )�������� �$ K
���������� �$; ,������ ��	���� �� � ������� �
 	�����	 ��'����� ��	
���	���� �
 ����&���� ������ .���$ 2�; ���	��� 
��� ������ 8 �4<<B"�
*$ <4?V<4!

F**�<8G �������� �$ K ������� �$ K  
������ �$; ���&������ ��	 &��
�������
�
 ��# ���������� )����A�5 ���	 �������� &��&���	 �1 ��������� �&���
������$ 2�; ����� ����� �������� =?�=8 �4<<8"� *$ !66V!6=

F*���<=G �������� �$; ���������&���������� 
���������" �	����� ��������� 	��
���������	 �������������� +����������� ���������� ����$� 4<<=

F*+%�<<G �������� �$ K ������� *$ K ������� �$ K "�
����� 
$ K  
������ �$;
0��	�	 ��1�� 	����� 
�� ���������	���	 ��	 �������1 �	������ ��&�����	
����&���� ������ .���$ 2�; ����� ����� �������� 44B�44< �4<<<"� *$
8<4V8<!

F*+/�<BG ����
�� J$ K ������� *$ K 	
��� �$ K ,��
���� �$ K ���*
� *$/$�$ K
	
�����
�� J$ K �
+������� /$ K ������ /$; )������	��� ����&����
������ .��� &��&���	 �1 ��������� �&�������� ��	 	� ��� &������$ 2�; >�
#���� ��$
� =< �4<<B"� 5�$ 6� *$ 4?4BV4?33

F*+/�<=G �����
� �$ K �����
�� 
$ K 	
��
����� �$ K 2��
���
�� �$ K '�����
�$; ����������������� &��&������ �
 	�����	���'� ��	 �1	��������	 ����
��� �������� ���#� �1 	������� �����	�$ 2�; ���	��� 
��� ������ B
�4<<="� *$ 4V8



34B ��������������������

F*��  G ����+
��� /$*$; 
&&��������� �
 ������	 *1��������	 �1 A������� ���
&�� ��&�������$ 2�; 	������ /$ �����$"; �������� �� ����	�� ���� ��&
������
� C���1��A� ������ 0���� C�������� 3   � *$ 8=6VB4<

F*N)�<BG ���*
� *$/$�$ K 4�� *�� K .
�� �$�$ K .
�� �$*$ K �������� �$�J$ K ���
�
�
��
� �$ K!����� C$2$; )�� ��������� �
 �������	��� ����&���� ������
���� .���$ 2�; ���� ����� ���	
 3< �3<4 �4<<B"� *$ 64=V633

F)��=?G .�
���
�� J$
$; 2�-����� �
 �&&������ �������1 ��	 	�&������� ����
	������ �� ��� ��������� ��	 ��&����&�1 �
 ����' �&������	 ��������$ 2�;
>�  ��� ���� �������� 44 �4<=?"� 5�$ ?� *$ BBBVB= 

F)��!6G .�
���� �$:$; A��������� 	�
��������� �� ���	�� ���#��'�$ 2�; >�
/��&��$
�� �����
 8= �4<!6"� *$ 688V6= 

F+��� 3G ������� *$ K �
���� A�$ K  
������ �$ K ������� �$ K �������� �$ K
3�� J$ K ����
�� J$; 2�-����� �
 ��� �����1 �
 �&������	 ������ �����
�� ��� ������������ �
 	�����	���'� ������ ���� .���$ 2�; ���	��� 
���
������ 44 �3  3"� *$ 4 4 V4 4?

F+��<BG ������� *$; ���
������� 
���������� ����������� ����� ���������7��&

�'����� ��� :��������������� +����������� ��������������� ����$� 4<<B

F�A%�<=G %
�*
���� 
$
$ K �
�
�
� �$
$ K �
���� *$J$�$ K )
����� �$*$ K
2
������� J$*$; ������ �
 � )�>)�A>�%A 
����������1 ���	���� �������
����	 �� ���	��� �
 ���������� ���������� �� )��A ���� .���$ 2�; ���� �����
���	
 3<! �4<<="� *$ 4 =V448

F�E(<<G %
�*
���� 
$
$ K /56����� J$�$ K 2
������� J$*$; )����������� &��
���
����� ��	 �������������1 �
 ������1�������� CA>����&���� 	�����	�
��'� ������ ���&������$ 2�; ���� ����� ���	
 6?3 �4<<<"� *$ 4<?V3  

F�*�<<G %�������� �$ K ��������� A�$ K $������ J$
$; ��������� �&����������
�
 )���%A �������� ����� ������������1 ����	 �����	�$ 2�; ����� �����
�������� 44B�44< �4<<<"� *$ 8!8V8< 

FC��!=G ��������+
��� �$; 
� ��������� ������ ������� ��# 
�� &��1��1��������
���� .��� &��&���	 �1 ��� ���� �&��������$ 2�; >� #���� ��$
� B3 �4<!="�
5�$ 8� *$ 4!  V4! =

FC�:�  G �
��+
��� *$ K "������� �$ K '���� J$ K "�����
���� �$ K 	
������

�� J$; ��������������� �������� �����1����� �&��������&1 �
 ��	�&�	 ��	
���������	�&�	 �������	��� ����&���� ������ .���$ 2�; ���	��� 
���
������ < �3   "� *$ =33V=3=



�������������������� 34=

FC*0�<BG ������� �$ K �
����� *$ K �������� )$ K 1���� �$ K ,��
���� �$
K %���
�
+�� �$*$ K 	
�����
�� J$; ���&������� ��	 &��&������ �

�����1 �������	��� �1	��������	 ����&���� ������$ 2�; ��$
� 
�%� 0 86
�4<<B"� 5�$ 6� *$ 48<?V4B !

FM�  G 3�
�� J$ K ��
��� %$�$; 2������������ �
 ������ ���������� �
 	�����	�
��'� ����&���� ������ �1 �������� �����1 ���� �&��������&1$ 2�; ������
64 �3   "� *$ 848V838

FM�  G 3�� J$; ����
����� �� ����� 0���� /������ ���� ���	
 �$ 
���� ���=����$
0��
 ����������� +���������� ��������������� ����$� 3   

FM��� 3G 3
��� *$�$ K "
��� �$ K "-	-��� K $
��� *$ K "�+� �$,$; ,���� �

����������� �� ��� ������������ �������� �
 *�������&�����	 	�����	���'�
������ .���$ 2�; 5��� 383 �3  3"� *$ = V=<

FM��!<G 3
����
�
� �$; /���� *&����� �
 	�����	��'� 
���&���� A�����
.���$ 2�; ��������
 ������� ����	 83�86 �4<!<"� *$ 6B8V6!8

F(/  G 2���� 
$ K 	������ /$; 2����	������; 5���� +�������	 ��������� �
������	���'� ��	 
���&���� A�����$ 2�; 	������ /$ �����$"; ����&
���� �� ����	�� ���� ��������
� C���1��A� ������ 0���� C��������
3   � *$ %�V%�2

F(��!8G 2�+ �
��� �$�$; )���������; /����������������I�*���������$ 2�; /�&
�����

��
������� =3 �4<!8"� *$ 3B V3B=




